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	 �	���� �� ��	 &	����	�� ��9����
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�����&	'(�� D :�� �	���9	H�� D2 = 0� A���� 
	�D���� �����	����� :��

�������� 
�����&	'.� D �	 
�%�����	 �� :����.� ScHc ⊗ T cHo �&�� 	 ��'.� ��,�

�	���9	H���� D2 = 0 ��-�� ��	 ��������	 �� 
�!�� � ��*�	 
1	&� �	�	 ���&	� �	�

9	�� * ��	� �� 
���� ���-��� �� 
�%�����	� Ξ �9"����	 ��$�� � :�	� * ������	�� �	

��������	 �� 
����� ���	'�� �� 
��-���	'(�� :�� ���.� �����	����� ���	��� 
�� 	�


�!��> 
��9���� &������ �� 
	�D���� )�


 ������	�� :�� ���&	����� 	:�� * �	 &���	�� ��	 
	�	
����H	'.� �� ���	� 	�


�����&	'(�� �	 
�%�����	 Coder(ScU ⊗ T cV ) �	�	 :�	��:��� ���	'�� &�����	�� U

� V � � 	-��	'.� 	
��	 ����� 
�!�> �����8�� 
��� 
����%���� 
 ���-��� Ξ

���
���	�� 	
��	 * �	��*� ��	�� �	�	 �����	� :��> �	�	 ��������	� A∞ (U⊕V,m =

{mk}) ��7����� ��3� ����� � ���	'� U ⊕V �	���9	H���� 
���	� 
����'(��> ����� ��	

��������	 �� 
�!� m ◦ Ξ �	:���� ���	'� �������	 ��)2��

0



������� � ������������

����� �� 
���'	���� ����� ������> 9	����� 	����	� �����&	'(�� ����� 	 ���	'.�

:�� ���% ������	�	� 4��
��	����� �	����> ������ :�� ����D&��> ����	 ���	'.� ��

	
���� 
�� 	:���	 ������	�	 �� ��&�� �� 6	�U�> �1����� � ��	�1�@ ����� ����	�	�

M$/℄�

��������� �� 
���� K -7	�� �� 
	�	
���D���
	 H���� �	�&� ���'.� �7��D
��	 ��


����%���> ����� �� ���	'�� &�����	�� ���
���	��� ����	 ���� ��&�� ��� 
�������	���

����� � 
���� K�

A�� ���	'� &�����	� Z8��	��	�� :�	�:��� V =
⊕

n∈Z V n> ��H���� :�� �� &����

v ∈ V * �� �������� 1����<��� �� V > �� v ∈ V n �	�	 	���� n ∈ Z� A���� 
	��>

n = |v| * ��-���� 
��� � ���� �� &���� v� �	��� ���� ���	'�� &�����	�� ��	��	��� U

� V > ��	 	���
	'.� ����	� f : U → V * ���	 ��	 �
��
���	 ������ �	
	���� �� �7����

�� ������� n ∈ Z �	� :�� f(Uk) ⊆ V k+n �	�	 ���� k ∈ Z� A���� 
	�� f * ���	 ��	

	���
	'.� ����	� �� ��	� |f | = n�

��J	 A ��	 %�����	 Z8��	��	�	> ���� *> �� ���	'� &�����	� A =
⊕

n∈Z An ������

�� �� ������� m : A ⊗ A → A �� ��	� H���> �� ��J	> |a · b| = |a| + |b|�

)
*����� 	+	 ,"���� �
 -��.��/+ ���� σ ∈ Σn �
� 
��
�����	 �� n ���
�� 

�	�! "��	 �
 
	�����	 {x1, . . . , xn} �������� �� n ���
���	� �	
	����	� �� A! �

����� �� #	�$�� ǫ(σ;x1, . . . , xn) �� 
��
�����	 σ �����	 �
 x1, . . . , xn ���� ���	���	

����%����
���� 
	� (−1)ǫ(σ) � & ��'���	 �� �������� 
������(

)! �� τ & �
� �����
	����	 �� �	�� ���
���	� xi � xi+1* 	 ����� �� #	�$�� & ��'���	


	� (−1)ǫ(τ) := (−1)|xi||xi+1|+

,! �� σ & 	 
�	���	 �� ���� 
��
����-�� σ = σ1σ2* ����	

(−1)ǫ(σ) = (−1)ǫ(σ1)(−1)ǫ(σ2).

)
*����� 	+�+ ����
 U � V ��
��	� %��	����� �������	�* ����� ���� �
��
��-��

�������� �	
	������ f, g : U → V ����� ��
��	� %��	����� �������	�* 	 
�	���	 f ⊗ g

& ��'���	 
	�

(f ⊗ g)(v ⊗ w) = (−1)|v||g|f(v) ⊗ g(w).

3



A	� ��'(�� ��� � ��$ 9	����� ��	 ��&��.� ��	��	�	 �	� ��9��<�
�	� M#> $�> $$> $,>

,/℄� ����� %�����	� 1����"��
	� � 
�����&	'(��� ?% �	 ��'.� ��, 	�������	��� ��

9���	 �7��D
��	 � ��&	��	����� 
��� 
�����&	'.� ��	�� �����
��	����� �� M�)℄� �

��'.� ��) 	�������	 ����� �������� ������	�� ������	�> ���	 �����	��� 
��� 
	�	
8

����H	� ���	� 	� 
�����&	'(�� �	 
�%�����	 ��	�	 �	�	 ��-��� 
�!� � ������� 
���


����%��� � 9	�� �� :�� ��	 
�!� * �	�	 ������������ ��� ��	 
�����&	'.� D


�� D2 = 0� ���	������> �	 G����	 �	��� ����� 
	�D����> ��'.� ��/> �����	��� 
���

����� ��	 
�!� 	 �	���� �� ��	 
���	 ��������	 �� %�����	 A∞�

��� �������� 
�������
��

�� ���	'� &�����	� V * ���� ��9����
�	� ��	��	�� �� ����&�� ������ �� ��	 Z8

��	��	'.� V =
⊕

n∈Z V n � �� �� ����	��� ����	� d : V → V �� ��	� � � �	�

:�� d2 = 0� ���	'�� &�����	�� ��9����
�	�� ��	��	��� ���.� 
1	�	��� ������������

�� �R8���	'���

)
*����� 	+� ,0��*���/+ .
 
	�'�
	 ����� �	�� "/ ��
��	� (V, dV ) � (W,dW )

& �
� �
��
���	 ������ f : V → W �� ���� $��	* ��� ��� dW f = fdV !

���
������ 	+ + 0	�'�
	� ����	 ��
�&
 
��
��	� �� �
��
��-�� �� 
�����!

)
*����� 	+( ,��������� �
 ���
���/+ ����
 (V, dV ) � (W,dW ) �	�� "/ 

��
��	� � f1, f2 : V → W �
��
��-�� �� 
������! .
� �	
	�	
�� �� 
������ ����� 	�

�	�� 
	�'�
	� f1, f2 & �
� �
��
���	 ������ h : (V, dV ) → (W,dW ) �� ���� −1 ���

��� f1 − f2 = dW h + hdV !

���� &������ 	 ������> ������� 	���	 ��-��� 1�������	� �� 1�������	�> �	�8

�*� 
��1�
��	� 
��� 1�������	� �� ����� ��������� 4�� �7�����> �	��� ���� ���8

-���� f1, f2 � ��	� 1�������	� h, k 
��� 	
��	> ��	 1�������	 �� ������	 ����� *

��	 	���
	'.� ����	� h2 : (V, dV ) → (W,dW ) �� ��	� −2 �	� :�� h−k = dW h2−h2dV �

)
*����� 	+' ,���������� �
 ���
� "��
����/+ ����
 (V, dV ) � (W,dW ) �	��

"/ ��
��	� � {hn}n�0 �
� ��
1��� �� �
��
��-�� hn : (V, dV ) → (W,dW ) ���� ���(

#



)! |hn| = −n � h0 & �
� �
��
���	 �� 
�����+

,! 
��� �	�	 n � 1* dW hn − (−1)nhndV = Pn(hn−1, ..., h0)*

	��� 
��� Pn ���	�� �
� 2
�	
�������3 ��� �� �
��
��-�� ��%�
 �������$��! 4���


�	
������� Pn & ��'���� �
 ���
	� �� 
	

	���-�� ��� �
��
��-�� � 
��
����-��

��� %����%��� 5���� 
	
	 �� 
�	
�������� 
	���
���� �� ����
�	��&��	��* =������	��

�� ?	
���* �����	��&��	��* ��
!!!6!

7� �
��
��-�� hn 
��� n � 1* �������$���	 �� 
	����-�� �
�
�* ��	 
��
���� ��

1��������� �
 ���
� ���
���� � ��$�
	� ��� �� 
�	
�������� Pn ��	 %������ 	

����� �� 1�������	!

���
������ 	+�+ 7 
���%�� 2
�	
�������3 �	� �

������ �� 
������ �������� %��� ��

��'����	 �
�
�! 8��� 
�	���
� 
	�� ��� 
	��	����	 ����%&� �	 
	�
���	 �� �
�����*

%�� 0���� 9,:℄!

��	 2��
��� 1�������
� �� ���	� * �� �R8���	'� (A, d) ������ �� ��	

9	�D��	 �� 	���
	'(�� {hk : A⊗k → A}k�1 �	���9	H���� 	� ��������� 
����'(��


�� h1 = dI

$� h2 * ��	 	���
	'.� �� 
	���	> ����> dh2(a, b) = h2(da, b) + (−1)|a|h2(a, db)I

,� 	� 	���
	'(�� hn �	�	 n � 3 �.� 1�������	� �� ����� ��������> �� ������� �	

��-��'.� 	
��	�

&3
���� 	+! ,
��
���� A∞/+ .
� ������� A∞ 
	������ �� �
 ��
��	 %��	����

�������
��� �������	 A 
����	 �� �
��
��-�� ��������

mn : A⊗n → A �� ���� 2 − n

�������$���	 �� ��������� �����-�� 
��� 
��� n � 1(

∑

i+j=n+1

n−j+1∑

k=1

β(i, j, k)mi(a1⊗· · ·⊗ak−1⊗mj(ak⊗· · ·⊗ak+j−1)⊗· · ·⊗an) = 0 �����

	��� β(i, j, k) & ����� � −1 ���%��	 � (j + 1)k + j(n +
∑k−1

m=1 |am|)! <	� 
��	�

n = 1, 2, 3, 4 � �=
�����	 �
�
� �	� ��$ ��� �� 	
����-�� �������$�
 �� ���������


�	
��������(

�+



5�)6 m1 = d & �
 �������
���( d2 = 0*

5�,6 m = m2 : A ⊗ A → A & �
� �
��
���	 �� 
�����* 	� ����* d & �
� ����%���	


	
 ���
���	 � m = m2*

5�>6 m3 : A⊗3 → A & �
� �	
	�	
�� �� 
������ 
��� � ���	
����%����� �� 
����
�� 


���	 m* 	� ����

m3d
[3] + dm3 = m(m ⊗ 1) − m(1 ⊗ m)

	��� d[3] ���	�� � �
��
���	 d ⊗ 1⊗2 + 1 ⊗ d ⊗ 1 + 1⊗2 ⊗ d*

5�?6 m4 & �
� �	
	�	
�� ��
���	� 5�� ������� 	���
6 �� �	�
� ��� m4d
[4] − dm4

��
 
��
	 ���
	� 
	����
	�����	 @� ������� �� K4 5%�� '���� )* @ 
����� >6(

m4d
[4] − dm4 = m3(m2 ⊗ 1⊗2 − 1⊗m2 ⊗ 1+1⊗2 ⊗m2)−m2(m3 ⊗ 1+1⊗m3).

����� �� ���
���	���� 	�  �����	� L∞> ���
��	��� ��-��� �� ���� �� �����8

�	'.� :�� ���% 9��:;��������� ��	�� ����� ��	�	�1��

)
*����� 	+4 ,)
�
������1��
����/+ .
� 
��
�����	 σ ∈ Σn & 
��
��� ��

(p, n − p) ����
�������
���	 �����	 σ(1) < · · · < σ(p) � σ(p + 1) < · · · < σ(n)!

"��	����
	� 
	� Σp,n−p � 
	����	 �� �	�	� (p, n − p) ����
�������
���	�!

���
������ 	+	5+ � �A
��	 �� (p, n − p) ����
�������
���	� &
n!

(n − p)! p!
!

&3
���� 	+		 ,
��
���� L∞/+ .
� ������� L∞ 
	������ �� �
 "/ ��
��	 L


����	 �� �
��
��-�� 
������������ ln : L⊗n → L ���� ��
&���
��* ���	 &(

ln(x1, . . . , xn) = −(−1)ǫ(σ)ln(xσ(1), . . . , xσ(n)) ∀σ ∈ Sn

�� ���� 2 − n �������$���	 �� ��������� 
	����-�� 
��� 
��� n � 1(

∑

i+j=n+1

∑

σ

e(σ)(−1)σ(−1)i(j−1)li(lj(vσ(1) ⊗ · · · ⊗ vσ(j)) ⊗ vσ(j+1) ⊗ · · · ⊗ vσ(n)) = 0

���$�

	��� σ 
��
	��� �	�	� (j, n − j) ����
�������
���	�!

��



7 ���
��� �
�
�* 
��� n = 1* ��$ ��� l1 & �
 �������
��� (l1
2 = 0)! B����	

n = 2* � ���
��� �'�
� ��� l2 & �
� �
��
���	 �� 
����� �* �����	 n = 3* ��
	� �

���������� �� C�
	�� � 
��	� �� �	
	�	
�� ����	 l3 
	
	 	
����	� �� �	
	�	
��!

� ������ �	��	����� 	 �����	� 	� 
�����&	'(��> 	� :�	�� ����� ��� ��	�	� �	�	

��-��� �� ��	��� �G���� �� %�����	� 1����"��
	�� �	����� <�9	�� ����
�	� Q�

%�����	� A∞> L∞ � 
�!��

��� ���������� � 
�������� ��

)
*����� 	+	� ,��2��
���/+ .
� 
	������� & �
� ���
�� (C,∆, ǫ)* 	��� C & �


��
��	 %��	����* ∆ : C → C ⊗ C � ǫ : C → K ��	 �
��
��-�� �������� �������$���	

	� �=�	
�� �� 
	���	
����%����� � 
	������� ���	� 
��	� ��������� ������
�� 
	
� 

����%	�(

C
∆

→ C ⊗ C

C ⊗ C

∆
↓

1⊗∆
→ C ⊗ C ⊗ C

∆⊗1
↓

C ⊗ K ←
1⊗ǫ

C ⊗ C
ǫ⊗1

→ K ⊗ C

C

∆
↑

≃

→
←

≃ ���,�

)
*����� 	+	� ,��������� ��
����/+ D��� �������� 
	������� ∆ : C → C ⊗ C*


	�� �� ��'��� 	 
	
�	���	 ������	( ∆(n−1) : C → C⊗n 
��� n � 2* �� ��������

�	�
�(

∆(n−1) = (∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

) ◦ · · · ◦ (∆ ⊗ 1) ◦ ∆.

� ����'.� �� ∆ �� 
	�	 �� ��� 9	����� 	
��	 * �� 9	�� ������&	��� �� 9��'.� �	

	���
�	��&��	�� �	 
�%�����	�

)
*����� 	+	 ,0��*��� �
 ��2��
����/+ "���� ���� 
	��������* (C,∆, ǫ) �

(C ′,∆′, ǫ′)! .
 
	�'�
	 ����� ���� & �
� �
��
���	 φ : C → C ′ �������$���	

∆′φ = (φ ⊗ φ)∆ � ǫ′φ = ǫ.

6
�� 	+	(+ �� χ : C → C ′ & �
 
	�'�
	 �����	� �� 
	��������* ����	 χ−1 : χ(C) →

C & �
 
	�'�
	 �� 
	��������!

�$



"�
	�������	! (χ⊗χ)∆ = ∆′χ ⇒ (χ⊗χ)∆χ−1 = ∆′ ⇒ (χ−1⊗χ−1)∆′ = ∆χ−1.

)
*����� 	+	' ,���
�������/+ .
� �
��
���	 ������ f : C → C & �
� 
	����%���	

�� 
	������� (C,∆, ε) �� ��� �������$ @� ��������� 
	����-��( εf = 0 �

(f ⊗ 1 + 1 ⊗ f)∆ = ∆f.

���
������ 	+	�+ E�
���
	� ��� �� m : A ⊗ A → A & �
� �������* ����	 �
�

����%���	 & �
� �
��
���	 d : A → A �������$���	 m(d ⊗ 1 + 1 ⊗ d) = d m!


 
��J���� �� ���	� 	� 
�����&	'(�� ���	 �	�	 
�%�����	 C 9���	� �� ���	'�

&�����	� :�� ���% �����	�� ��� �����(C)� � ������ 	�������	��� ���� ���	� �����


�����&	'(�� :�� ���.� G���� �� ��
����� ����� ��	�	�1��

6
�� 	+	!+ ����
 (C,∆) � (C ′,∆′) ���� 
	�������� � χ : C → C ′ �
 
	�'�
	

�����	� �� 
	��������! �� f ′ : C ′ → C ′ & �
� 
	����%���	 
��� �
���
 ���� 
	�����

�
 χ(C)* ����	 f = χ−1f ′χ & �
� 
	����%���	 �� C!

"�
	�������	! 4��� ���	 ���/ 	
��	> �	����� :�� χ−1 : χ(C) → C * �� ���-���

�� 
�%�����	�� ����� :��

(f ⊗ 1 + 1 ⊗ f) ◦ ∆ = (χ−1f ′χ ⊗ 1 + 1 ⊗ χ−1f ′χ) ◦ ∆ =

= (χ−1 ⊗ χ−1) ◦ (f ′ ⊗ 1 + 1 ⊗ f ′) ◦ (χ ⊗ χ) ◦ ∆ =

= (χ−1 ⊗ χ−1) ◦ (f ′ ⊗ 1 + 1 ⊗ f ′) ◦ ∆′ ◦ χ =

= (χ−1 ⊗ χ−1) ◦ (∆′ ◦ f ′) ◦ χ =

= ((χ−1 ⊗ χ−1) ◦ ∆′) ◦ f ′ ◦ χ =

= ∆ ◦ χ−1 ◦ f ′ ◦ χ = ∆ ◦ f.

���� χ : C → C ′ * �� ���-��� �� 
�%�����	�> ��&���� ��� ǫ′ ◦ χ = ǫ> ����� ǫ � ǫ′

	� 
�����	��� �� C � C ′ �����
��&	������ ����� 	����

ǫ ◦ f = ǫ ◦ (χ−1 ◦ f ′ ◦ χ) = (ǫ ◦ χ−1) ◦ f ′ ◦ χ =

= (ǫ′ ◦ f ′) ◦ χ = 0 ◦ χ = 0.

�,



)
*����� 	+	4 ,��2��
��� 7������/+ "���� ���� 
	�������� (C,∆) � (C ′,∆′)!

7 
	������� 
�	���	 (C ⊗ C ′,Ψ) & ��'���� 
��	 �������� 
	
�	���	

Ψ : C ⊗ C ′ → (C ⊗ C ′) ⊗ (C ⊗ C ′)

Ψ
def
= (1C ⊗ τ ⊗ 1C′) ◦ (∆ ⊗ ∆′),

	��� τ & 	 ��	
	�'�
	 τ : C ⊗ C ′ → C ′ ⊗ C, τ(x ⊗ y) = (−1)|x||y|y ⊗ x! 4	
 �


	������� ��'���� 
	� ǫC⊗C′ : C ⊗ C ′ → K* ǫC⊗C′(x ⊗ x′) = ǫC(x)ǫC′(x′)!

6
�� 	+�5+ ����
 (C,∆) � (C ′,∆′) ���� 
	��������! �� f : C → C & �
�


	����%���	* ����	 f ⊗ 1C′ : C ⊗ C ′ → C ⊗ C ′ & �
� 
	����%���	 �� 
	�������


�	���	!

"�
	�������	!

((f ⊗ 1C′) ⊗ 1C⊗C′ + 1C⊗C′ ⊗ (f ⊗ 1C′))Ψ =

= ((f ⊗ 1C′) ⊗ 1C⊗C′ + 1C⊗C′ ⊗ (f ⊗ 1C′)) ◦ (1C ⊗ τ ⊗ 1C′) ◦ (∆ ⊗ ∆′) =

= (1C ⊗ τ ⊗ 1C′) ◦ [(f ⊗ 1C) ⊗ 1C′⊗C′ + (1C ⊗ f) ⊗ 1C′⊗C′)] ◦ (∆ ⊗ ∆′) =

= (1C ⊗ τ ⊗ 1C′) ◦ [(f ⊗ 1C + 1C ⊗ f) ◦ ∆) ⊗ (1C′⊗C′ ◦ ∆′)] =

= (1C ⊗ τ ⊗ 1C′)(∆f ⊗ ∆′) = (1C ⊗ τ ⊗ 1C′) ◦ (∆ ⊗ ∆′)(f ⊗ 1C′) = Ψ(f ⊗ 1C′).

� 
����'.� ǫC⊗C′ ◦ (f ⊗ 1C′) = 0> �����8�� �����	����� �	 
����'.� ǫC ◦ f = 0�

����� ��������	��� �� ��������� ���������

)
*����� 	+�	+ "��	 �
 ��
��	 %��	���� V ��������* � 
	������� ����	���� ������


	� V & ��'���� 
	
	 (T cV,∆⊗, π0)* 	��� T cV =
⊕

n�0 V ⊗n* 	 
	
�	���	

∆⊗ : T cV → T cV ⊗ T cV

& ��'���	 
	�

∆⊗(v1 ⊗ · · · ⊗ vn) = v[n] ⊗ 1 +
∑

1�i�n−1

(v1 ⊗ · · · ⊗ vi) ⊗ (vi+1 ⊗ · · · ⊗ vn) + 1 ⊗ v[n]

�)



	��� v[n] = v1 ⊗ · · · ⊗ vn+ � � 
	������� & ���� 
��� 
�	����	 
�����
�

π0 :
⊕

n�0

V ⊗n → K


	�%��
�	����	 �� ��� V ⊗0 = K!


 ��J���&� ����	 ��'.� * �����	� 
��� 
	�	
����H	� ���	� 	� 
�����&	'(�� �	


�%�����	 �������	� 	��	&*� �� ��%����
���	 �� 
	����%��-��� 
 :�	� �	��	����� 	

�7���
	�� 4������	����� �� ���	 �����	��� 
��� 	 ���J�'.� 
	����
	 ���� ���

�	�	 �� ������ �� 
���������

6
�� 	+��+ ���� πn : T cV → V ⊗n � 
�	����	 
�����
�! 8
 ���
	� �	 
	
�	���	

∆⊗* ��� 
	�� ��� �=
����� 
	
	(

πn = (π1 ⊗ · · · ⊗ π1)∆
(n−1)
⊗ , 
��� n � 2 ���)�

	��� ∆
(n−1)
⊗ & 	 
	
�	���	 ������	 �� ��'����	 )!)>!

"�
	�������	! 4��	 ��-��'.� �� ∆⊗> ����� :�� � 
�������� ����	�� ∆
(n−1)
⊗ * �	��

���


∆
(n−1)
⊗ (x1 ⊗ · · · ⊗ xk) =

∑
x[j0+1,j1] ⊗ x[j1+1,j2] ⊗ · · · ⊗ x[j(n−1)+1,jn] ���/�

���� 	 ���	 	
��	 ���
���� ���	� 	� (n− 1)8���	� (j1, . . . , jn−1) �� �������� �	�� :��

0 = j0 � j1 � · · · � jn−1 � jn = k �> �	�	 
	�	 x = x1 ⊗ · · · ⊗ xl � �����8D���
� x[i,j]

* ��-���� �	 �������� 9���	


x[i,j] =

⎧
⎪⎪⎪⎨

⎪⎪⎪⎩

1, se j < i

xi, se i = j

xi ⊗ · · · ⊗ xj, se i < j.

���2�

����8�� :�� 	 �7�����.� ���/� 
���*� n �����8D���
���

���� 	 ���J�'.� 
	����
	 πn : T cV → V ⊗n * ��-���	 ���

πn(x1 ⊗ · · · ⊗ xk) =

⎧
⎨

⎩
x1 ⊗ · · · ⊗ xk, se k = n

0, se k �= n,

�/



	���
	���8�� π1 ⊗ · · · ⊗ π1︸ ︷︷ ︸
n termos

�	 �7�����.� ���/�> �������

∑
(π1 ⊗ · · · ⊗ π1)(x[j0+1,j1] ⊗ x[j1+1,j2] ⊗ · · · ⊗ x[j(n−1)+1,jn]).

6	� 	 �7�����.� ������ �� ���	�"��� * �.� ���	 ��> � ������� ��> ����� �� �����8

D���
�� x[ji+1,ji+1] ������
���� 	 V > �� ��J	> �� k = n � x[j(l−1)+1,jl] = xl �	�	 ����

1 � l � n� �� ����	� �	�	&�	�

(π1 ⊗ · · · ⊗ π1)∆
(n−1)
⊗ (x1 ⊗ · · · ⊗ xk)

* ���	� 	 x1 ⊗ · · · ⊗ xn :�	��� k = n � * H��� ��� ������ 
	����

���
������ 	+��+ <���� �������	 �����
	� � �	����	 T cV 
��� ���	��� � 
	�������

����	���� ������ 
	� V ! 7 ������� ����	���� ���� ���	���� 
	� T aV ! <	�� �� ���*


	
	 ��
��	 %��	����* T cV ∼= T aV !

���� A �
� ������� � G ⊂ A �
 ���
	�����	 �� �����	���! "���� ���� ����%��-��

��������� d1, d2 : A → A! �� d1|G = d2|G ����	 d1 = d2* 
	�� �	�	� ���
���	� �� A

��	 
�	���	� �� ���
���	� �� G � d1 � d2 �������$�
 � ����� �� E�����$!

<	 
��	 ��
�
1'
	 �� ������� ����	���� T aV =
⊕

V ⊗n 
	
 
�	���	 ���	 
	�(

(x1 ⊗ · · · ⊗ xn) ⊗ (y1 ⊗ · · · ⊗ ym) �−→ x1 ⊗ · · · ⊗ xn ⊗ y1 ⊗ · · · ⊗ ym,

���� �������� �
��
���	 ������ f : V → T aV * 
	��
	� ������� �� �� �	�
� A��
�


	
	 �
� ����%���	 f̂ : T aV → T aV �� ������� ����	����! � ����
���	 ���� ��
�&


& %��������	 
��� 
	�������� � 
	����%��-��! B������� �
��
���	 f : T cV → V 
	�� ���

���
�
���� ��%������ 
	
	 �
� 
	����%���	 f̂ : T cV → T cV ! 4	
	 
	������
	� �

������!

)
*����� 	+� ,6
������
��� 
��� ���
�������/+ �� f : V ⊗n → V & �
�

�
��
���	 ������* ��� 
	�� ��� ��%������ 
	
	 �
� 
	����%���	 f̂ : T cV → T cV

��'����	 �� f̂(v1 ⊗ · · · ⊗ vk) = 0 
��� k < n �

f̂(v1 ⊗ · · · ⊗ vk) =
k−n∑

i=0

(1⊗i ⊗ f ⊗ 1⊗k−n−i)(v1 ⊗ · · · ⊗ vk), 
��� k � n. ���0�

�2



� ��-��'.� 	
��	 9�� �	�	 �	�	 :�	�:��� ���	'� &�����	� V � A���8�� :��> �� V *

�� ���	'� &�����	� ��	��	�� V =
⊕

n∈Z V ⊗n � f * 1����<��	 �� ��	� |f |> ��	��� 	

��-��'.� ��$ ���.� 	 9"����	 ���0� �	 ��-��'.� 	
��	 -
	


f̂(v1⊗· · ·⊗vk) =
k−n∑

i=0

(−1)(|v1|+···+|vi|)|f |v1⊗· · ·⊗vi⊗f(vi+1, . . . , vi+n)⊗vi+n+1⊗· · ·⊗vk.

���3�

�� ���	'� &�����	� :�	�:��� V ���� ��� 
�������	�� �� ���	'� &�����	� ��	��	��

���� ���� ���	'� ���% S
��
����	��T �� ��	� H���� A���� 
	�� 	 9"����	 	
��	 ��

����H ������������ 	

f̂(v1 ⊗ · · · ⊗ vk) =
k−n∑

i=0

v1 ⊗ · · · ⊗ vi ⊗ f(vi+1, . . . , vi+n) ⊗ vi+n+1 ⊗ · · · ⊗ vk.

6
�� 	+�(+ D��� �������� ��
��	 %��	���� V � �������� f : V ⊗n → V * � �
��
���	

f̂ : T cV → T cV & �
� 
	����%���	!

"�
	�������	! 4��&	����� �������	����� � 
	�� �.�8��	��	��� 4��	 9"����	 	
��	

�����


∆⊗f̂(v1 ⊗ · · · ⊗ vk) =
k−n∑

i=0

∆(v1 ⊗ · · · vi ⊗ f(vi+1, . . . , vi+n) ⊗ vi+n+1 · · · ⊗ vk) =

=
k−n∑

i=0

[ i∑

l=0

(
(v1 ⊗ · · · ⊗ vl) ⊗ (vl+1 ⊗ · · · vi ⊗ f(vi+1, . . . , vi+n) ⊗ vi+n+1 · · · ⊗ vk)

)
+

+
k∑

l=i+n

(
(v1 ⊗ · · · vi ⊗ f(vi+1, . . . , vi+n) ⊗ vi+n+1 · · · ⊗ vl) ⊗ (vl+1 ⊗ · · · ⊗ vk)

)]
.

4�� ����� �	��


(f̂ ⊗ 1 + 1 ⊗ f̂)∆⊗(v1 ⊗ · · · ⊗ vk) = (f̂ ⊗ 1 + 1 ⊗ f̂)
( k∑

l=0

(v1 ⊗ · · · ⊗ vl) ⊗ (vl+1 ⊗ · · · ⊗ vk)
)

=

=
k∑

l=0

(
f̂(v1, . . . , vl) ⊗ (vl+1 ⊗ · · · ⊗ vk) + (v1 ⊗ · · · ⊗ vl) ⊗ f̂(vl+1, . . . , vk)

)
=

=

[ k∑

l=n

( l−n∑

i=0

v1 ⊗ · · · vi ⊗ f(vi+1, . . . , vi+n) ⊗ vi+n+1 · · · ⊗ vl

)
⊗ (vl+1 ⊗ · · · ⊗ vk)

]
+

+

[ k−n∑

l=0

(v1 ⊗ · · · ⊗ vl) ⊗
( k−n−l∑

i=0

vl+1 ⊗ · · · vl+i ⊗ f(vl+i+1, . . . , vl+i+n) ⊗ vl+i+n+1 · · · ⊗ vk

)]
=

�0



=
k−n∑

l=0

(
(v1 ⊗ · · · ⊗ vl) ⊗

( k−n∑

i=l

(vl+1 ⊗ · · · vi ⊗ f(vi+1, . . . , vi+n) ⊗ vi+n+1 · · · ⊗ vk)
))

+

+
k∑

l=n

( l−n∑

i=0

(v1 ⊗ · · · vi ⊗ f(vi+1, . . . , vi+n) ⊗ vi+n+1 · · · ⊗ vl) ⊗ (vl+1 ⊗ · · · ⊗ vk)
)
.

�����8�� :�� ∆⊗f̂(v1 ⊗ · · · ⊗ vk) = (f̂ ⊗ 1 + 1 ⊗ f̂)∆⊗(v1 ⊗ · · · ⊗ vk).


 
	�� ��	��	�� �����8�� �� 
	�� �.� ��	��	�� ���&	�� 	
��	 	���	� �����&	���8

�� :�� �� ���	��> �	��� �	 ��-��'.� �� 
�����&	'.� (f ⊗ 1 + 1⊗ f)∆ = ∆f :�	��� �	

��-��'.� �� f̂ ������ � ����� ����
D��� �	�� ���	 ��-��'.� ��$�

4	�	 :�	�:��� ���	'� &�����	� V > 
	�	 	���
	'.� ����	� f ∈ Hom(T cV, V ) ��	�&�

���'.� �7��D
��	 �� 
����%���> ����� ��	�	�1� Hom(V,W ) = Hom
K
(V,W ) �����	 �

���	'� �	� 	���
	'(�� ����	��� �� V �� W �> ���� ��� ��
���	 
��� f =
∑∞

n=0 fn 
��

fn : V ⊗n → V � ����
	��� � ��&	��	����� 
��� 
�����&	'.� �	�	 
	�	 f̂n �����

f̂n : T cV → T cV � ����� ����� ��	 	���
	'.� ����	�

Hom(T cV, V )
φ
→ Coder(T cV )

f =
∑∞

n=0 fn → φ(f) =
∑∞

n=0 f̂n

���#�

A���8�� :�� φ(f) * ��	 	���
	'.� ��� ��-���	> ���� �	�	 
	�	 v1 ⊗ · · · ⊗ vk ∈ T cV

φ(f)(v1⊗· · ·⊗vk) * �	�	 ��� ��	 ���	 -���	> ��	 &�H :�� f̂n(v1⊗· · ·⊗vk) = 0 �	�	

n > k� � ���	 �� 
�����&	'(�� * ��	 
�����&	'.�> ����	��� φ(f) * ��	 
�����&	'.��

7��������� 	+�'+ 7 �
��
���	 ������ φ : Hom(T cV, V ) → Coder(T cV ) & �
 ��	 


	�'�
	 �� ��
��	� %��	�����!

����� �� ���&	���� 	 �������'.� 	
��	> ���
��	��� �� �	�� �� ���	�

6
�� 	+��+ 7� 
	����%��-�� �� 
	������� ����	���� T cV ��	 �����
������ 
���� ����


�	���-�� �
 V ! 8
 	����� 
���%���* ����� ���� 
	����%��-�� ��������� f, g : T cV →

T cV �� π1f = π1g* ����	 f = g!

"�
	�������	! 4������	����� �����&	��� :�� �	�	 :�	�:��� 
�������� ∆ � :�	�8

:��� 
�����&	'.� f > ��� ����'.� �����


∆(n−1)f = (f ⊗ 1⊗n−1 + · · · + 1⊗n−2 ⊗ f ⊗ 1 + 1⊗n−1 ⊗ f)∆(n−1).

�3



�� 9	��> �	�	 n = 2 	 �7�����.� 	
��	 * ������������ 	 ��-��'.� �� 
�����&	'.��

��������� :�� 	 9"����	 * &%���	 �	�	 �	�	 n − 1> �����

∆(n−2)f = (f ⊗ 1⊗n−2 + · · · + 1⊗n−3 ⊗ f ⊗ 1 + 1⊗n−2 ⊗ f)∆(n−2).

����
	���8�� (∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

) �� 
	�	 �	�
��	 �	 ���	��	�� 	
��	 ���*�8��


(∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

)(f ⊗ 1⊗n−2) = ((f ⊗ 1 + 1 ⊗ f) ⊗ 1⊗n−2)(∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

)

= (f ⊗ 1⊗n−1 + 1 ⊗ f ⊗ 1⊗n−2)(∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

)

� �	�	 
	�	 2 � k < n


(∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

)(1⊗n−k ⊗ f ⊗ 1⊗k−2) = (1⊗n−k+1 ⊗ f ⊗ 1⊗k−2)(∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

)

���� ∆1 = (1 ⊗ 1)∆> ���� *> 	 �������	�� 1 : C → C * ��	 	���
	'.� �� 
�%�����	�

���� ��� ��-��'.� (∆ ⊗ 1 ⊗ · · · ⊗ 1︸ ︷︷ ︸
n−2

)∆(n−2) = ∆(n−1)> 	����	���8�� �� ������


	�
��	��� 	
��	> �������


∆(n−1)f = (f ⊗ 1⊗n−1 + · · · + 1⊗n−2 ⊗ f ⊗ 1 + 1⊗n−1 ⊗ f)∆(n−1).

�	�	 ��	 
�����&	'.� :�	�:��� f ∈ Coder(T cV )> ��	��� 	 9"����	 ���)� � 	

���	��	�� 	
��	 :�� 	
	�	��� �� &���-
	�> �����8�� :��

πnf = (π1 ⊗ · · · ⊗ π1)∆
(n−1)
⊗ f

=
∑

(π1 ⊗ · · · ⊗ π1f ⊗ · · · ⊗ π1)∆
(n−1)
⊗ .

�	�	 :�	�:��� n � 1� ���
������ :�� :�	�:��� 
�����&	'.� f * ��������	�	 ���	

��	 ���J�'.� π1f �

D�	%� �� 
�	
	����	 )!,:! φ(f) *> ��� ��-��'.�> φ(f) :=
∑

f̂n ∈ Coder(T cV )� 4��	

��-��'.� ���0�> π1f̂n = fn� 4���	��� π1φ(f) = f � �����8�� :�� φ * ��J����	�

�	�	 ��	 
�����&	'.� :�	�:��� g ∈ Coder(T cV )> ����� π1g ∈ Hom(T cV, V )�

���9���� &���� 	
��	 π1φ(π1g) = π1g> �	� 
��� 	� 
�����&	'(�� �������� 	���	�

�� π1> �����8�� :�� φ(π1g) = g� 4���	��� φ * �����J����	�

�#



)
*����� �
 2��
���� A∞ 
� �
���� �
 
��
������
�

4	�	 :�	�:��� ���	'� &�����	� ��	��	�� V > ��J	 ↑V 	 �������.� �� V > ���� *> � ���	'�

&�����	� ��	��	�� ��-���� ��� (↑V )r+1 = V r> �� ��J	�> | ↑v| = |v| + 1 �	�	 ����

�������� 1����<��� v ∈ V �

�� ������ �� 
�����&	'(��> ��	 ��������	 �� %�����	 A∞ ��� ���	'� &�����	� V

* �:��&	����� 	 ��	 
�����&	'.� �� ��	� �� D ∈ Coder1(T c(↑V ))> ���� � ��	� �� D *

����H��� ���	 ��	��	'.� �� V > �	� :�� D2 = 0� �� 9	��> �	�	 :�	�:��� 
�����&	'.� D>

D2 �	��*� * ��	 
�����&	'.� � ����	��� * ��������	�	 ���	 ���J�'.� π1D
2 : T c((↑

V )) → (↑V )� � 
����'.� D2 = 0 * ����	��� �:��&	����� 	 π1D
2 = 0� 4���8�� &�� :��

���	 G����	 ���	��	�� * �:��&	����� 	 ��-��'.� �� %�����	 A∞ &���	 	������������>

&�� M$/℄�

����� ��������	��� �� ��������� ��� ���
�

�	����� 	:��> �	�	 	 
�%�����	 ���*���
	 Sc(V )> �� ������ �� 
�����&	'(�� 	�%����

	� 9���� �	 ��'.� 	������� �	�	 T c(V )� ����� �� �������H����� 	 
�%�����	 ���*���
	>

	����	� ��-��'(�� �.� ��
���%��	��

)
*����� 	+�!+ Sc(V ) & ��'���	 
	
	 	 ��
��	 %��	���� ��	
����� T c(V )/I 	��� I

& 	 ����� �����	 
	� x ⊗ y − (−1)|x||y|y ⊗ x 
��� �	�	� ���
���	� �	
	����	� x, y ��

V

I =< x ⊗ y − (−1)|x||y|y ⊗ x : ∀x, y ∈ V >

7 
���%�� ����� & �

������ ���� �
 ������	 @ ��������� �� ������� ���	
����%� �


T cV ���� 
��	 
�	���	 ����	����! .
� 
����� [v1 ⊗ · · · ⊗ vn] ∈ Sc(V ) ���� ���	����


	� v1 ∧ · · · ∧ vn!

���
������ 	+�4+ .����
���� �
 ������� 
���������� 	 �1
�	�	 �� 
���� ∧ & ����	


��� ���	��� 	 
�	���	 ������
&���
	* 	� �� /����
���* 	 ���� �������$ x ∧ y =

−(−1)|x||y|y ∧ x! <���� �������	 �	 ������	* ∧ ���� ����	 
��� ���	��� 	 
�	���	

��
&���
	 �������	* 	 ���� �������$

v1 ∧ · · · ∧ vk = (−1)ǫ(σ)vσ(1) ∧ · · · ∧ vσ(k)

$+



	��� (−1)ǫ(σ) & 	 ����� �� #	�$�� �� 
��
�����	 σ ����	��$��	 �� "�'����	 )!)!

)
*����� 	+�5 ,��2��
��� "��8���
�/+ D��� �������� ��
��	 %��	���� �������	

V * � 
	������� ��
&���
� ������ 
	� V & ��'���� 
	
	 � ���
�� (Sc(V ) =
⊕

n�0 V ∧n,∆∧, π0)*

	��� π0 :
⊕

n�0 V ∧n → K & � 
�	����	 
�����
� � 	 
	
�	���	 ∆∧ : Sc(V ) →

Sc(V ) ⊗ Sc(V ) & ��'���	 
	�

∆∧(v1∧· · ·∧vn) =
∑

0�i�n

∑

σ∈Si,n−i

(−1)ǫ(σ)(vσ(1)∧· · ·∧vσ(i))⊗(vσ(i+1)∧· · ·∧vσ(n)). ����+�

	��� Σi,n−i ���	�� 	 
	�����	 �	� (i, n − i) ����
�������
���	�* %�� "�'����	 )!G!

��J	 χ : ScV → T cV 	 	���
	'.� �� 
�%�����	 ��-���	 ���


χ(v1 ∧ · · · ∧ vn) =
∑

σ∈Sn

(−1)ǫ(σ)vσ(1) ⊗ · · · ⊗ vσ(n). ������

V 9%
�� &�� :�� χ * �� ���-��� ��J���� �� 
�%�����	� �&�� L	���� M�0℄�� �����8��

:��> χ−1 : χ[ScV ] → ScV �	��*� * �� ���-��� �� 
�%�����	�� 
 ��"7��� ���	

���	����
� :�� 	 ���J�'.� 
	����
	 pn : ScV → V ∧n �	 
�%�����	 ���*���
	 �	��*�

���� ��� ��������	�	 ���� 
�������� ����	���

6
�� 	+�	+ 7 
�	����	 
�����
� pn & �=
����� �
 ���
	� �	 
	
�	���	 ∆∧ 
	
	(

pn = χ−1(p1 ⊗ · · · ⊗ p1)∆
(n−1)
∧ !

"�
	�������	! �������	��� :�� �	 
�%�����	 �������	� �����

πn = (π1 ⊗ · · · ⊗ π1)∆
(n−1)
⊗ ,

�����&	��� :�� pn = χ−1 πnχ� �� 9	��> �	�	 :�	�:��� v1 ∧ · · · ∧ vn ∈ Sc(V )> �����

χ−1 πnχ(v1 ∧ · · · ∧ vn) = χ−1 πn

( ∑

σ∈Sn

(−1)ǫ(σ)vσ(1) ⊗ · · · ⊗ vσ(n)

)

= χ−1
( ∑

σ∈Sn

(−1)ǫ(σ)vσ(1) ⊗ · · · ⊗ vσ(n)

)

= v1 ∧ · · · ∧ vn

$�



� χ−1 πnχ(v1 ∧ · · · ∧ vk) = 0 �	�	 k �= n� ���� χ * ��	 	���
	'.� �� 
�%�����	>

∆
(n−1)
⊗

◦ χ = χ⊗n ◦ ∆
(n−1)
∧

> ���.� �����


pn = χ−1(π1 ⊗ · · · ⊗ π1)∆
(n−1)
⊗ χ

= χ−1(π1 ⊗ · · · ⊗ π1)χ
⊗n∆

(n−1)
∧

= χ−1(p1 ⊗ · · · ⊗ p1)∆
(n−1)
∧ ���� π1χ = p1.

��	��� �7	�	����� 	 ����	 ��������	'.� �� 
	�� �	 
�%�����	 �������	�> �

��"7��� ���	 	-��	 :�� ���	 
�����&	'.� �� Coder(Sc(V )) * ��������	�	 ���	 ��	

���J�'.� p1f �

6
�� 	+��+ "���� ���� 
	����%��-�� f, g ∈ Coder(Sc(V ))! �� p1f = p1g* ����	

f = g!

)
*����� 	+��+ "��� �
� �
��
���	 ������ f : V ∧n → V * 
	��
	� ��%���� �� 
	
	

�
� 
	����%���	 �� �������� 
������( f̂ : ScV → ScV & ��'���� 
	�(

f̂(v1 ∧ · · · ∧ vk) = 0 
��� k < n �

f̂(v1 ∧ · · · ∧ vk) =
∑

σ∈Sn,k−n

(−1)ǫ(σ)f(vσ(1), . . . , vσ(n)) ∧ vσ(n+1) ∧ · · · ∧ vσ(k) ����$�


��� k � n!

6
�� 	+� + D��� �������� ��
��	 %��	���� �������	 � �������� �
��
���	 
������� 

��� ��
&���
� �������� f : V ∧k → V ! � ��%����
���	 f̂ * ��'���	 �
�
�* & �
�


	����%���	!

"�
	�������	! �	�	 	 	���
	'.� f : V ∧k → V > 	 :�	� ���� ��� &���	 
��� ��	

	���
	'.� ���*���
	 ��	��	�	 f : V ⊗k → V > ��-����� 	 �������� 	���
	'.�


V ⊗k sf
→ V

v1 ⊗ · · · ⊗ vk → 1
k!f(v1 ⊗ · · · ⊗ vk),

&	�� �����	� :�� ���	��� ��	�	�1	��� ����� �� 
���� �� 
	�	
���D���
	 H���� ��J	

φ(sf) : T cV → T cV � ��&	��	����� 
��� 
�����&	'.� �	 
�%�����	 �������	� �	��

���	 9"����	 ��#�

$$



����	 �����&	��� :�� 	 ��	��� �� φ(sf) ◦χ> ���% 
�����	 �	 ��	��� �� χ> ����

* (φ(sf) ◦ χ)(ScV ) ⊆ χ(ScV )� �� 9	��>

φ(sf) ◦ χ(x1 ∧ · · · ∧ xn) = φ(sf)(
∑

σ∈Sn

xσ(1) ⊗ · · · ⊗ xσ(n)) =

=
n−k∑

i=0

∑

σ∈Sn

±(xσ(1) ⊗ · · ·⊗xσ(i) ⊗ sf(xσ(i+1), . . . , xσ(i+k))⊗xσ(i+k+1) ⊗ · · ·⊗xσ(n))

����,�

���� � ���	� �	 �7�����.� 	
��	 * �	�� ���
 (−1)ǫ(σ)(−1)(xσ(1)+···+xσ(i))|f |�

���	��� 	���	 	 	���
	'.� ŝf ◦ χ : Sc(V ) → Sc(V ) �	�	 ���

ŝf ◦ χ(x1 ∧ · · · ∧ xn) =
∑

σ∈Sk,n−k

(−1)ǫ(σ)sf ◦ χ(xσ(1) ∧ · · · ∧ xσ(k)) ∧ xσ(k+1) ∧ · · · ∧ xσ(n).

����
	���8�� χ Q ���	 �7�����.� ����8�� &�� :��
 χ ◦ (ŝf ◦ χ) = φ(sf) ◦ χ�

�� ����	� �	�	&�	�> � ��	��	�	


ScV
χ

�� T cV
π1

���
�

�
�

�
�

�
�

ScV

ŝf◦χ

��

χ
�� T cV

φ(sf)

��

sf
�� V

����)�

* 
����	��&��

4���	���> χ−1 ◦ φ(sf) ◦χ = ŝf ◦ χ� 4��� W��	 ���3> �	����� :�� χ−1 ◦ φ(sf) ◦χ

* ��	 
�����&	'.� �� Sc(V )> ����	��� ŝf ◦ χ * ��	 
�����&	'.�� 6	� ���	 ��-��'.�

�� sf > * �����	�� :�� sf ◦ χ = f � 4���	��� f̂ * ��	 
�����&	'.��

��� 	 ����	 ���&	 �	�	 �� 
	�� �	 
�%�����	 �������	�> ����� 	 ��������

7��������� 	+�(+ � ��%����
���	 
	
	 
	����%���	

Hom(ScV, V ) → Coder(ScV )
∑

fn →
∑

f̂n

& �
 ��	
	�'�
	 �� ��
��	� %��	�����!

$,



)
*����� �
 2��
���� L∞ 
� �
���� �
 
��
������
�

��	����� �	��*� 	 �������.� ↑V �� �� ���	'� &�����	� ��	��	�� V �	�	 ��-���

%�����	� L∞ �� ������ �� 
�����&	'(��� ��	 ��������	 �� %�����	 L∞ ��� ���	'�

&�����	� V * �:��&	����� 	 ��	 
�����&	'.� �� ��	� �� D ∈ Coder1(Sc(↑V ))> 
�� �

��	� �� D ����H��� ���	 ��	��	'.� �� V > �	� :�� D2 = 0� ���� D2 �	�*� * ��	


�����&	'.�> D2 = 0 ��> � ������� ��> p1D
2 = 0� ���	 G����	 ���	��	�� * �:��&	�����

Q ��:�<�
�	 �� ���	��	��� �	�	� �	 ��-��'.� �� %�����	 L∞> &�� M$/℄�

� ���	'.� ���	� ����� %�����	� 	���
�	��&	� � %�����	� �� W�� �������8�� �	���	�8

����� �	�	 � 
����7�� �� %�����	� 1����"��
	� 	��	&*� �� �������� ������	

9
��
�� 	+�' ,6��� :�	℄/+ ���� χ 	 
	�'�
	 �� 
	�������� ��'���	 
��� ���
���

)!))! ��
	���
	� ��� {mn} : T cV → V & �
� ��������� A∞ �
 V ! 8���	 {mn ◦χ}

& �
� ��������� L∞ �
 V !

"�
	�������	! ��	 ��������	 A∞ �� V * ��	 ��:;<�
�	 {mn}n�1 �� 	���
	'(��

����	��� �� ��	� �> mn : V ⊗n → V > �	�� :�� ������ �� ��&	��	�	� 
��� 
�����&	'(��

D =
∑

m̂n : T cV → T cV > ��-��� �� ��9����
�	�
 D2 = 0� ��	 ��������	 L∞ *

��-���	 �	 ����	 9���	 	��	&*� �� 	���
	'(�� ln : V n → V �	�� :�� D
′

=
∑

l̂n :

ScV → ScV �	���9	H (D
′

)2 = 0�

����	 
����������� 	 
�����&	'.� D
′

: ScV → ScV ��-���	 ��� D
′

=
∑

n m̂n ◦ χ�

4��� ���	 ��,) �	����� :�� � �������� ��	��	�	 * 
����	��&�


ScV
χ

�� T cV

ScV

D′

��

χ
�� T cV

D

��

ScV

D′

��

χ �� T cV.

D

��

����/�

���� D2 = 0 � χ * ��J����	> 
��
������ :�� (D
′

)2 = 0�

A� ����	��� ����� 
	�D���� �����	����� :�� &���(�� 	�%���	� ��� ������	��� �����	8

��� 	
��	 �	��*� �.� &%����� �	�	 	� 
�!��� 
 �	��� 
��
�	� * ��������1	�� ���

�� ���-��� �� 
�%�����	� Ξ : ScU ⊗T cV → T c(U ⊕V ) 
�J	 9"����	 ���$�� ��&��&�

� 
�	���	 �������
���	 ��-���� ���	 9"����	 ����#��

$)



��! "�#����� �� ��
� ��� 
�������� ��

A���	 ��'.� �������	����� 	 ��-��'.� �� 
�!� 	��	&*� �� 
�%�����	� �	�	 �� M�)℄�

���� ���	� �	 �����	 ��  �����	� !����"��
	� M$/℄> C����8
����� 1������F 	�����	�E

����� ��� ���
���	� 
��� ��	 
�����&	'.� ��9����
�	� ���	 
�%�����	 	������	�	�

A� 
	�� �	� 
�!��> 	 
�%�����	 * ScHc⊗T cHo� 
��� Hc � Ho �.� �����
��&	�����

� ���	'� �� ���	��� �	 �����	 �� 
	��� �� 
���	 �	�	 
���	� 9�
1	�	� � 	����	��

���� � ��J���&� ����	 ���� * �����	� �� 	���
��� ���	����� �	���%��
�� �	:���	�

%�����	�> ��	�	�1	����� 
�� ���	'�� &�����	�� ��	��	��� �� ���	��

��J	� U � V ���	'�� &�����	�� Z8��	��	���� 5	��� �������	����� �������	� 	

��-��'.� �� 
�������� ∆ �� ScU ⊗ T cV 


∆((u1 ∧ · · · ∧ um) ⊗ (v1 ⊗ · · · ⊗ vn)) =

=
∑

0�p�m

0�q�n

∑

σ∈Sp,m−p

(−1)ǫ(σ)(−1)η(p,q)((uσ(1) ∧ · · · ∧ uσ(p)) ⊗ (v1 ⊗ · · · ⊗ vq))⊗

⊗ ((uσ(p+1) ∧ · · · ∧ uσ(m)) ⊗ (vq+1 ⊗ · · · ⊗ vn)), ����2�

���� 
 η(p, q) = (|uσ(p+1)| + · · · + |uσ(m)|)(|v1| + · · · + |vq|).

)
*����� 	+��+ "��� �
� �
��
���	 f : U∧p ⊗ V ⊗q → V * ��� ��%����
���	 
	
	


	����%���	 & ��'���	 �� �������� 
������( 
��� r � p, s � q ��'��
	�(

f̂((u1 ∧ · · · ∧ ur) ⊗ (v1 ⊗ · · · ⊗ vs)) =

=
∑

σ∈Sr−p,p

0�j�s−q

(−1)µr−p,j (σ)(uσ(1) ∧ · · · ∧ uσ(r−p)) ⊗ (v1 ⊗ · · · ⊗ vj⊗

⊗ f(uσ(r−p+1), . . . , uσ(r), vj+1, . . . , vj+q) ⊗ · · · ⊗ vs) ����0�

	���( µp,q(σ) = ǫ(σ) + (|uσ(1)| + · · · + |uσ(p)|) + (|v1| + · · · + |vq|)+

+ (|v1| + · · · + |vq|)(|uσ(q+1)| + · · · + |uσ(n)|),

���
������ 	+�!+ � ���	 �� ��� � �
��
���	 f̂ : Sc(V ) ⊗ T c(U) → Sc(V ) ⊗ T c(U)

����
 ��'���� & �� ���	 �
� 
	����%���	 ���� 
�	%��	* �� 
	�	 ����	�	 �	 
��	 ��


	������� ��
&���
�* �� 
��=�
� ����	 �
�� ����	��$��
	� 	 
	�'�
	 �� 
	��������

Ξ : Sc(V ) ⊗ T c(U) → T c(V ⊕ U)! H�� D�	
	����	 )!?,!

$/



?% &���� :�� :�	�:��� 	���
	'.� g : U∧p → U ���� ��� ��&	��	�	 
��� ��	


�����&	'.� ḡ : ScU → ScU > ��	���8�� 	 9"����	 ����$��

)
*����� 	+�4+ .
� �
��
���	 g : U∧p → U 
	�� ��� ��%������ 
	
	 �
� 
	����%���	

ĝ �� ScU ⊗T cV ��'���� 
	
	 ĝ = ḡ⊗ 1* 	��� 1 ���	�� � ���������� �
 T cV ! 0���

�=
��
���
����* ��
	� ĝ : ScU ⊗ T cV → ScU ⊗ T cV

ĝ((u1 ∧ · · · ∧ un) ⊗ (v1 ⊗ · · · ⊗ vp)) =

=
∑

σ∈Sp,n−p

(−1)ǫ(σ)(g(uσ(1) ∧ · · · ∧ uσ(p)) ∧ uσ(p+1) ∧ · · · ∧ uσ(n)) ⊗ (v1 ⊗ · · · ⊗ vp).

����3�

4��� W��	 ��$+> �	����� :�� ĝ : ScU ⊗ T cV → ScU ⊗ T cV * ��	 
�����&	'.��

���
������ :��> �	�	� ��	� 	���
	'(�� f : U∧p ⊗ V ⊗q → V � g : U∧n → U >

������� ��&	��%8�	� 
��� ��	 
�����&	'.� f̂ + ĝ ∈ Coder(ScU ⊗ T cV )� ���8

9���� ���
���� �� M�)℄ ��	 
�!� * ��	 ���	 �� ���	'�� &�����	�� ��	��	���

H = Hc ⊕ Ho ������� �� ��	� 9	�D��	� �� 	���
	'(�� ���������	��� �� ��	� �>

l = {lp : H∧p
c → Hc}p>0 � n = {np,q : H∧p

c ⊗ H⊗q
o → Ho}p,q�0, p+q>0> �	�� :��>

��&	��	���8�� 	:���	� 	���
	'(�� �	�	 
�����&	'(��> �	� 
��� ��-���	� �	� 9"����	�

���0 � ���3> ln ∈ Coder(ScHc⊗T cHo) � np,q ∈ Coder(ScHc⊗T cHo)> ����� l =
∑

n ln

� n =
∑

p,q np,q> �	���9	H���� (l + n)2 = 0�

A	 ��"7��	 ��'.� �����	����� :�� :�	�:��� φ ∈ Coder(ScU ⊗ T cV ) ���� ���

��
���	 
��� φ =
∑

n gn+
∑

p,q fp,q> ���� gn � fp,q �.� 
�����&	'(�� �����	� ��&	��	���8

�� 	���
	'(�� ���������	��� gn : U∧n → U � fp,q : U∧p ⊗ V ⊗q → V � �� &���	 �����

9	��> ������� ������������ ��H�� :�� ��	 ��������	 �� 
�!� �� U ⊕ V * �	�	

��� ��	 
�����&	'.� ��9����
�	� �� ��	� �� �	 
�%�����	 ScU ⊗ T cV �

=��� �	��*� ��� �% ��	 �7���
	'.� ���	����� 	��*���
	 �	�	 	� ������'(�� �	�

	���
	'(�� ���������	��� f : H∧p
c ⊗ H⊗q

o → Hc ⊕ Ho :�� 	�	��
�� �	 ��-��'.�

�� 
�!� M�)℄� �� 9	��> 	� 	���
	'(�� ���������	��� �.� ��������� 	� ������	'� ��

Hom(ScHc ⊗T cHo,Hc ⊕Ho) ���	�� ���	� 	���
	'(�� �	 9���	 f : H∧p
c ⊗H⊗q

o → Ho

� g : H∧p
c → Hc� � �������'.� � ��H :�� ���� ������	'� * ������9� 	 �����(ScHc ⊗

T cHo) � ������� 
��
���� :�� 	� ������'(�� �� 
�!� �.� ����D���
	� 	� ���	'�

$2



�����(ScHc ⊗ T cHo)� ��� 6	���� 6	�U� :��� ��� ������� 
�������	� 	� ������'(��

�� 
�!� 
��� ����D���
	� �	� 
�����&	'(�� 	
��	�

��$ ��������� �� �� ScU ⊗ T cV

A���	 ��'.� �����	����� 
��� 
	�	
����H	� ���	� 
�����&	'(�� �� ScU⊗T cV ��	���

�� ���-��� ��J���� �� 
�%�����	� 	������	���

)
*����� 	+ 5 ,7������ <����1��
���/+ ���� E �
 ��
��	 %��	���� Z �������	

� ����
 a1 ⊗· · ·⊗an ∈ E⊗n � 0 � i � n! � ������� �	�	�1	����� �� a1 ⊗· · ·⊗ai ∈

E⊗i � ai+1 ⊗ · · · ⊗ an ∈ E⊗n−i & ��'���	 
	
	

Sh((a1 ⊗ · · · ⊗ ai) ⊗ (ai+1 ⊗ · · · ⊗ an)) :=
∑

σ∈U(i,n−i)

(−1)ǫ(σ)aσ(1) ⊗ · · · ⊗ aσ(n) ����#�

	��� U(i,n−i) & 	 
	�����	 �� �	�	� (i, n − i) �������
���	�* ���	 &* 
��
����-�� σ ∈

Σn 
	


σ−1(1) < · · · < σ−1(i), σ−1(i + 1) < · · · < σ−1(n).

V ��� 
��1�
��� �&�� L	���� M�0℄� :�� Sh : T cE ⊗ T cE → T cE * �� ���-��� ��


�%�����	��

5	��� 
�������	� 	���	 � ���	'� &�����	� U ⊕ V J���� 
�� 	 ��
���.� �	���	�

T cU → T c(U ⊕ V ) � T cV → T c(U ⊕ V )� ���	��� � ������� �������	� �	� ��
���(��

� 
������� 
�� Sh ������� ��	 ���-��� ��J���� �� 
�%�����	 X : T cU ⊗T cV →

T c(U⊕V )� ������������ Ξ : ScU⊗T cV → T c(U⊕V ) �	�	 ���	 �������� 
������'.�

ScU ⊗ T cV
Ξ ��

χ ⊗ 1

��������������
T c(U ⊕ V )

T cU ⊗ T cV

X

��������������

���$+�

���� χ 9�� ��-���� �� ������� 5�J	��� 	 9"����	 �7��D
��	 �	�	 � ���-��� ��J����

�� 
�%�����	� Ξ


Ξ(v1 ∧ · · · ∧ vk;u1 ∧ · · · ∧ ul) =
∑

σ∈Sk

(−1)e(σ)
X (vσ(1), . . . , vσ(k);u1, . . . , ul) ���$��

$0



���� X > 
��9���� &���� 	
��	> * �	�� ���	 ���	 �� ����� �� �	�	�1	������ �����

��������� �� V � �� U �

6
�� 	+ 	+ D��� �������� �����	 f :
⊕

p+q=n U∧p ⊗ V ⊗q → V �=���� �
� �����	

bf : (U ⊕ V )⊗n → V ��� ��� bf ◦ Ξ = f ! ���� Ξ :
⊕

p+q=n U∧p ⊗ V ⊗q → (U ⊕ V )⊗n

& %���	 ���� 
	
	 � ��������	 �	 
	�'�
	 Ξ �	 �����
��	
⊕

p+q=n U∧p ⊗ V ⊗q!

"�
	�������	! 4	�	 ��-��� bf > �����&	��� �������� :�� :�	�:��� �������� �� (U ⊕

V )⊗n * ��	 
�����	'.� ����	� �� ��������� �	 9���	 aσ(1) ⊗ · · · ⊗ aσ(n) 
�� ai =

ui ∈ U �	�	 1 � i � p � aj = vj ∈ V �	�	 p + 1 � j � n> ���� σ * ��

(p, n − p)8�	�	�1	�����> 
�� p &	��	��� ����� 0 � n� �����	����� �	�� ���������

��� σ(u1, . . . , up; vp+1, . . . , vn)�

� 	���
	'.� bf : (U ⊕ V )⊗n → V * ���.� ��-���	 �	 �������� 9���	
 �	�	 
	�	

σ(u1, . . . , up; vp+1, . . . , vn)>

bf(σ(u1, . . . , up; vp+1, . . . , vn)) =
(n − p)!

n!
f ◦Ξ((u1 ∧· · ·∧up)⊗ (vp+1⊗· · ·⊗vn)).

7��������� 	+ �+ "��� �
� �
��
���	 f : U∧p ⊗ V ⊗q → V * ��� ��%����
���	

f̂ : ScU ⊗ T cV → ScU ⊗ T cV ���	 
��� ���
��� 5)!)I6 ��'�� �
� 
	����%���	!

"�
	�������	! 4������	����� ���	��� 	 	���
	'.� bf : (U ⊕ V )⊗n → V ��-���	

�� ���	 	
��	 � ��J	 φ(bf) : T c(U ⊕ V ) → T c(U ⊕ V ) � ��� ��&	��	����� 
���


�����&	'.� �	 
�%�����	 �������	��

A.� * ��9D
�� &�� :�� Ξ◦f̂ = φ(bf)◦Ξ� 4���	���> f̂ = Ξ−1◦φ(bf)◦Ξ� ���� φ(bf) *

��	 
�����&	'.� �� T c(U⊕V )> �����8�� :�� f̂ * ��	 
�����&	'.� �� ScU⊗T cV �

6
�� 	+ �+ 7 
�	����	 
�����
� θn : ScU ⊗ T cV →
⊕

p+q=n U∧p ⊗ V ⊗q & �����
� 

���� 
��	 
	
�	���	 ������	 ����%&� �� ���
���

θn = Ξ−1(θ1 ⊗ · · · ⊗ θ1)∆
(n−1).

"�
	�������	! 
����&	��� :�� θn = Ξ−1πnΞ ���� πn : T c(U ⊕ V ) → (U ⊕ V )⊗n *

	 ���J�'.� 
	����
	 �	 &���-
	'.� ����	 ���	��	�� * ���	������ 	�%���	 Q &���-
	'.�

$3



�� pn = χ−1πnχ> 9���	 �� 
	�� �	 
�%�����	 ���*���
	�� �� �	���
��	�> θ1 = π1Ξ :

ScU ⊗ T cV → U ⊕ V � W����	��� :�� πn = (π1 ⊗ · · · ⊗ π1)∆
(n−1)
⊗ > �����


θn = Ξ−1(π1 ⊗ · · · ⊗ π1)∆
(n−1)
⊗ Ξ

= Ξ−1(π1 ⊗ · · · ⊗ π1)Ξ
⊗n∆(n−1)

= Ξ−1(θ1 ⊗ · · · ⊗ θ1)∆
(n−1)

���$$�

���� ∆⊗ * � 
�������� �� T c(U ⊕ V ) � ∆ * ��-���	 ��� ����2��

�	�	 ��	 
�����&	'.� :�	�:��� φ ∈ Coder(ScU ⊗ T cV )> 	���
	���8	 �� ���$$�


θnφ = Ξ−1(θ1 ⊗ · · · ⊗ θ1)∆
(n−1)φ

= Ξ−1
∑

(θ1 ⊗ · · · ⊗ θ1φ ⊗ · · · ⊗ θ1)∆
(n−1),

���$,�

φ * ����	��� ��������	�	 ��� ��	 ���J�'.� θ1φ : ScU ⊗ T cV → U ⊕ V > θ1φ = g ⊕ f �

4���8�� ��
��&�� g � f 
���
 g =
∑

gp,q � f =
∑

fp,q> ���� gp,q : U∧p ⊗ V ⊗q → U �

fp,q : U∧p ⊗ V ⊗q → V > �	�	 p, q � 0�

θnφ = Ξ−1
∑

(θ1 ⊗ · · · ⊗ (f + g) ⊗ · · · ⊗ θ1)∆
(n−1)

= Ξ−1
∑

(θ1 ⊗ · · · ⊗ (
∑

gp,q +
∑

fp,q) ⊗ · · · ⊗ θ1)∆
(n−1),

φ * ����	��� ��������	�	 ��� gp,q � fp,q 	��	&*� �	� 9"����	� 	
��	�

4�� ����� �	��> &���� :�� fp,q � gn,0 ����� ��� ��&	��	�	� 
��� 
�����&	'(��

���	� 9"����	� ����0� � ����3�� �����:;���������> 
���
∑

p,q f̂p,q +
∑

n ĝn * ��	


�����&	'.�> φ
′

= φ −
∑

p,q f̂p,q +
∑

n ĝn * ��	 
�����&	'.� 
�J	 ���J�'.� ��� 	

9���	


θ1φ
′

=
∑

(p,q)�(0,1)

gp,q ���� gp,q : U∧p ⊗ V ⊗q → U.

7��������� 	+  + J	�� 
	����%���	 φ ∈ Coder(ScU ⊗ T cV ) 
	�� ��� ��
���� 
	
	

φ =
∑

n ĝn +
∑

p,q f̂p,q* 	��� ĝn � f̂p,q ��	 
	����%��-�� 	������ 
��	 ��%����
���	*

��'���	 
���� �=
����-�� 5)!)I6 ��� 5)!)K6* ��� �
��
��-�� 
������������ gn : U∧n → U

� fp,q : U∧p ⊗ V ⊗q → V !

$#



�����2��� 	+ (+ "��	� �	�� ��
��	� %��	����� �������
���� �������	� Hc � Ho! .
�

��������� �� �4�7 �
 H = Hc ⊕Ho & ����%������ � �
� 
	����%���	 �������
��� ��

���� �


D ∈ Coder1(ScHc ⊗ T cHo) : D2 = 0.

D�	%� �� D�	
	����	 )!??! 4��	 ���
���.� 	
��	> �	��	 �����	� :�� :�	�:��� 
�����&	'.�

φ ∈ Coder(ScU ⊗ T cV ) �	� :��

θ1φ =
∑

(p,q)�(0,1)

gp,q ���� gp,q : U∧p ⊗ V ⊗q → U,

��&� ��� ������
	����� ���	�

�� 9	��> 	 9"����	 ���$,� ��� ��H :��

Ξ θ2 φ =
∑

(p,q)�(0,1)

(gp,q ⊗ θ1 + θ1 ⊗ gp,q)∆.

����
	���8�� u[k]⊗ v[l+1] = (u1 ∧ · · · ∧uk)⊗ (v1 ⊗· · ·⊗vl+1) ����� v1 �= vl+1� �� �	��

�������> �����


∑

i

±gk−1,l+1(u1∧· · · ûi · · ·∧uk ⊗ v[l+1]) ⊗ ui ± ui ⊗ gk−1,l+1(u1∧· · · ûi · · ·∧uk ⊗ v[l+1])

± gk,l(u[k] ⊗ v1⊗· · ·⊗vl) ⊗ vl+1 ± v1 ⊗ gk,l(u[k] ⊗ v2⊗· · ·⊗vl+1).

���	 �7�����.� ��&� ������
�� Q ��	��� �� Ξ� 
� ������ ��&��&���� gk−1,l+1 �	��8

�	������ ������
�� 	 ��	> ���� ���� �.� ���	� �� 
����	����� �� ��������� �� U � 
�

������ ��&��&���� gk,l ��&�� ���.� ������
�� 	 Im(Ξ) �	��*�� 6	� 
��� v1 �= vl+1>

�	�� ������ �.� �.� �	�	�1	������ � �" ����� ������
�� 	 Im(Ξ) ��

gk,l((u1 ∧ · · · ∧ uk) ⊗ (v1 ⊗ · · · ⊗ vl)) = 0 ∀ ui ∈ U, vj ∈ V.

��% ���&������� � �����'������� �� ����&�&��� A∞

��H���� :�� ��	 	���
	'.� f : T c(Hc ⊕ Ho) → Hc ⊕ Ho * �
�� 4�	��� ��������>

�� ������������ �4 ��������> �� f = l + n 
�� l : T cHc → Hc � n : T c(Hc ⊕

Ho) → Ho� V �����	�� &�� :�� �� ��	� 	���
	'(�� f, g : T c(Hc ⊕ Ho) → Hc ⊕ Ho

,+



�.� 
�8�������	�> ���.� ��� 
��
1��� �� R������1	��� [f, g] * �	��*� 
�8���������


 ��"7��� ������	 ��H :�� 
����	����� � �	�	�1	������ �� ��������	� A∞ OC8

�������	� ����H�� ��������	� �� 
�!��

9
��
�� 	+ '+ "��� �
� ��������� A∞* M = {Mk} : T c(Hc ⊕Ho) → Hc ⊕Ho* �

���� & �4 ��������! 8���	 {Mk ◦Ξ} ��'�� �
� ��������� �� �4�7 �
 H = Hc⊕Ho!

"�
	�������	! �	��	 �����	� :�� ����� �� ��	��	�	 
����	��&� 	�%���� 	� ��	8

��	�	 ����)�� ���� M = {Mk = ℓk + nk} * OC8�������	> 	 
������'.� M ◦ Ξ =

{Mk ◦ Ξ} ��� �% ��	� ��:;<�
�	� �� 	���
	'(��
 lk = ℓk ◦ Ξ : SkHc → Hc �

np,q = nk ◦ Ξ : H∧p
c ⊗ H⊗q

o → Ho 
�� p + q = k� �� �:�	'(�� ����0� � ����3� ���

��H�� 
��� ��&	��	� ���	� 	���
	'(�� 
��� 
�����&	'(�� lk ∈ Coder(ScHc ⊗ T cHo)

� np,q ∈ Coder(ScHc ⊗ T cHo)� �����	��� ��� M̂ ◦ Ξ 	 
�����&	'.� l + n =
∑

lk +
∑

np,q ∈ Coder(ScHc ⊗ T cHo)� ���� Ξ * ��J����	> ������� (M̂ ◦ Ξ)2 = (l + n)2 = 0

���	 
����	��&��	�� �� �������� ��	��	�	


ScHc ⊗ T cHo
Ξ �� T c(Hc ⊕Ho)

πc⊕πo

��������������

ScHc ⊗ T cHo

M̂◦Ξ

��

Ξ �� T c(Hc ⊕Ho)

M̂

��

M �� Hc ⊕Ho,

���$)�


 ����� 	�������� ��	�� �	 ���&	 �	 4������'.� ��)$ ���&	 :�� Ξ◦M̂ ◦ Ξ = M̂ ◦Ξ>

���� *> :�� � ��	��	�	 	
��	 * 
����	��&��


 ������	�� 	
��	 * � 	�%���� �	�	 
�!� �	 ���	'.� ���	� ����� %�����	� �� W��

	 %�����	� 	���
�	��&	��

,�



�������� 	

� ����	
	 OC∞

A� 
	�D���� 	������� &���� 	 ��-��'.� �� 
�!� 	��	&*� �� 
�����&	'(��� �:��

�����	����� 	 
���	�	 OC∞ �	� :�� 	� 
�!�� �.� ���
��	����� 	� %�����	� �����

OC∞� �	� ����	�	 9�� �������H��	 ��� L	J���	 � ��	�1�@ �� M�)℄� A� ���	���> ��

	������ �.� ���7	�	� ������	����� 
�	�� 
��� ��-��� � ����	��� d> �� �7�	��.�

�� &*���
��> �	�	 	� %�&���� :�� ��-��� OC∞� A���� 
	�D���� 	�������	��� ��	

�	����	 �� ����
���	� � �������	 	��	&*� �	� ��%	��� 
��
���
���� 
����� ��-���	�

�	 ��'.� $�$�

���� 
	�D���� 
���'	 
�� �� ���&� 	�	�1	�� ���	� ����� ����	�	� � ������	 
��

	 ��-��'.� �	 ����	�	 OC∞ �� ������ �� %�&���� �	�
�	������ ��	�	� � �� ����	���

�� �7�	��.� �� &*���
�� d� A�� �7������> ���
������ 	����	� �	� ��������	��� �	��

��
���	��� �	� 
�!�� ��	��� � ����	��� d�

��� ��������

)
*����� �+	 ,��
���� �
 &������ =
�������/+ .
� 	
����� �� ��
��	� %� 

�	����� & �
� ���L��
�� O = {O(n)}n�1 �� ��
��	� %��	����� 
����� �� ��������

���������(

5�6 �
� ���	 @ ������� �	 ���
	 ��
&���
	 Σn �
 
��� ��
��	 %��	���� O(n)+

,$



5��6 �
� ��� �� 
	

	����	

γn;m1,...,mn : O(n) ⊗ O(m1) ⊗ · · · ⊗ O(mn) → O(m1 + · · · + mn)


��� �	�	 n,m1, . . . ,mn � 1+

5���6 �
 ���
���	 ���������� e ∈ O(1)! �������$���	 �� ��������� 
�	
��������(

(P1) 7 
	

	����	 & ����%������� 
	
 ���
���	 @� ��-�� �	 ���
	 ��
&���
	( Σn ×

Σm1 × · · ·×Σmn ��� �	 ���	 �������	 � ��� ���	 & ��%��� �������
���� @ ���	

�� Σm1+···+mn ! �� ����* 
��� �	�	 c ∈ O(k)* ds ∈ O(ms)* σ ∈ Σk � τs ∈ Σjs(

γ(c σ; d1, . . . , dk) = γ(c ; dσ−1(1), . . . , dσ−1(k))σ(m1, . . . ,mk)

� γ(c ; d1 τ1, . . . , dk τk) = γ(c; d1, . . . , dk) (τ1 ⊕ · · · ⊕ τk) 	��� σ(m1, . . . ,mk) �� 

�	�� � 
��
�����	 �� m =
∑

i mi ������ ��� 
��
���
 	� k ��	
	� �� ������

�����
����	� 
��� ���� 
������	 �� m �� 
��
� �	�
� ��� σ 
��
��� k ������!

(P2) 7 
	

	����	 & ���	
����%�* �!�!* 	 �������� ������
� & 
	
�����%	(
⎧
⎪⎨

⎪⎩

O(k) ⊗ O(n1) ⊗ · · · ⊗ O(nk)

⊗O(m1,1) ⊗ · · · ⊗ O(mk,nk
)

⎫
⎪⎬

⎪⎭
id⊗γk

→ O(k) ⊗ O(m1) ⊗ · · · ⊗ O(mk)

O(n) ⊗ O(m1,1) ⊗ · · · ⊗ O(mk,nk
)

γk;n1,...,nk
⊗id

↓
γ

→ O(m)

γ

↓

	��� mi =
∑

j mi,j* n =
∑

i ni � m =
∑

i mi+

(P3) � ���
���	 ���������� e �������$ 
�	
�������� �������� 
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	����	( γ(e; d) = d � γ(d; e, . . . , e) = d 
��� 
��� f ∈ O(k)!

��	 ����	�	 �� ���	'�� �����"��
�� �� �� 
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����	� ������'	� ������������8�� � ������� �������	� ⊗ ���� ������� 
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×� �� 9	��> 	 ����	 ��-��'.� 	
��	 	���
	8�� �	�	 :�	�:��� 
	������	 ������	�

���*���
	> �	��	 ���������� � ������� ⊗ 	
��	 ���� ������� ���*���
� ⊙ �	 
	����8
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��9����
�	�� ��	��	�	� ��R�I ����	�	� ����� �� ���	�� 
��� �� �	�<������ 
���*� �

���� �	 
	������	 Q :�	� �� ��J���� �	 ����	�	 ������
���

� ���1�� �	����	 �� �������� � 
��
���� �� 
���	�	 * 	��	&*� �� �7������� 
�

�7������ 
�%���
�� �.� 	 ����	�	 �	� 	���
	'(�� ���������	��� � 	 �	� %�&����� ��"�

���
���� ����� �7������> �����	����� ������ 
��
����� ���	
���	����

!���
�	��� �������������

��J	 V �� ���	'� &�����	�> �	�	 
	�	 n � 1 ��J	 EndV (n) � ���	'� �	� 	���
	'(��

���������	��� EndV (n) = Hom(V ⊗n, V )� 
 ����� ���*���
� Σn 	�� Q ��:����	 ��

V ⊗n �� �	����	 �	���	�


x1 ⊗ · · · ⊗ xn
σ

�−→ (−1)ǫ(σ)xσ−1(1) ⊗ · · · ⊗ xσ−1(n)

� ����	��� ����H ��	 	'.� Q ������	 �� Hom(V ⊗n, V )� 4	�	 
	�	 1 � i � n>

������� 
����� ��	 	���
	'.� f ∈ Hom(V ⊗n, V ) 
�� ����	 g ∈ Hom(V ⊗m, V )

������� f ◦i g ∈ Hom(V ⊗n+m−1, V ) �	�	 ���


f ◦i g(x1, . . . , xm+n−1) = f(x1, . . . , xi−1, g(xi, . . . , xi+m−1), xi+m, . . . , xm+n−1).

�� 
������'(�� �� ���� ◦i �	���9	H�� �	���	������ ��������	��� �� 	���
�	��&��	��

� �:��&	��X�
�	 �� ���	'.� Q 	'.� Q ������	 �� Σn� �� 9	��> �	�	 �������� i, j, r, s

	������	��� � 	���
	'(�� ���������	��� f, g, h> �����

(f ◦i g) ◦j h = f ◦r (g ◦s h).

� ����	'.� ◦i : Hom(V ⊗n, V )⊗Hom(V ⊗m, V ) → Hom(V ⊗m+n−1, V ) * �:��&	��	���

�� ���	'.� Q 	'.� �� ����� Σn × Σm �� Hom(V ⊗n, V )⊗ Hom(V ⊗m, V ) � �� �����

Σm+n−1 �� Hom(V ⊗m+n−1, V )�

"������

��	 %�&��� * �� ��	9� -���� 
���7� � 
����%���� 5	��� ����-
	� �� ���
� 	


��&��'.� ���	� � C	�	�	�E �� &*���
�� :�� �<� 	���	� ��	 	����	 	�J	
����� �����8

:;���������> 	����	� 	����	� ���.� 	���	� �� &*���
� 	�J	
���� � ���.� 
1	�	�	� ��

,)



������� �=������ �� 
������ �����	� :�� �<� ���� &*���
�� 	�J	
����� ���.� 
1	�	�	�

������� ���������

��������� :�� ���	� 	� %�&���� �<� 	� ����� ��	 	����	� � %�&��� 
�� 	���	�

��	 	����	 � ���1�� &*���
� * 
1	�	�	 �� ��%	�� ���%���� ��	 %�&��� ��� 	����	�

������	� ���% 
1	�	�	 �� 
	�	���

��	 ��%	�� 
	
 ���$ * ��	 %�&��� 
�� ��	 	����	 �7����	 ����������	 
1	�	�	

���$� �� ����	� 	����	� �7����	� ���	���
����� ���	 %�&��� 
�� �	�H ���.� 
1	�	�	�

�	����� ��	 &�H :�� ��	 �	�H ���% -7	> ��	 %�&��� 
�� �	�H ��� ��	 ������	'.�

�	���	� �	 :�	� ���	 	����	 ���% ������	�	 �� ����'.� 	� &*���
� �	�� ��"7��� �	

�	�H�

�	�&� ���'.� �7��D
��	 �� 
����%���> �	:�� �� ��	��� 	 �7�����.� ��%	�� ������

�����-
	�% %�&��� 
�� �	�H � ������	�	� ��	 %�&��� n8�����	�	 * �� �	� (T, ℓ) ����

T * ��	 %�&��� � ℓ : Fol(T ) → [n] * ��	 ��J�'.�> ���� ���(T ) * � 
��J���� �	�

9��1	� �� T � [n] = {1, . . . , n}� 
 ����� �	� ������	'(�� Σn 	�� Q ������	 �	� %�&����

n8�����	�	�
 �	�	 
	�	 ��J�'.� σ : [n] → [n] ��-����� σ(T, ℓ) := (T, σ−1 ◦ ℓ).

�� ������-��� ����� %�&���� * ��	 9��'.� 
���D��	 φ : T1 → T2 :�� ����H

��	 ��J�'.� �� 
��J���� �� &*���
�� � �	� :��> �� (v, v′) * 	 	����	 �� T1 ��������	�	

����� &*���
�� v � v′> ���.� (φ(v), φ(v′)) * ��	 	����	 �� T2� ��������� :�� ����

������-��� ������&	 	� �	DH�� �	� %�&����� �� (T1, ℓ1) * ��	 %�&��� n8�����	�	>

� ������-��� φ : T1 → T2 ����H �� �"���� �	���	� φ(ℓ1) �� T2� ��H���� :��

��	� %�&���� n8�����	�	� (T1, ℓ1) � (T2, ℓ2) �.� ������9	� �� �7���� �� ������-���

φ : T1 → T2 �	� :�� φ(ℓ1) = ℓ2� � 
�	��� �� ������-��� �� ��	 %�&��� n8�����	�	

���% �����	�	 ��� [T, ℓ]�

4	�	 
	�	 ������� n � 1> ����� �� 
��J���� ����(n) �	� 
�	���� �� ������-���

�� %�&���� n8�����	�	� ��� n8%�&������ ���9���� &���� 	
��	> � ����� Σn 	�� ��

����(n)� ����	 &	��� ��-��� ��	 
������'.� ����� %�&���� �	� :��> �	�	 ��	 n8

%�&��� � ��	 m8%�&���> ������� ��	 (m + n − 1)8%�&����

)
*����� �+� ,���������� �
 
����
�/+ "��� �
� n ��%	�� (T, ℓ) � �
� m 

��%	�� (S, λ) � �
 ������	 1 � i � n* �=���� �
� ��%	�� ���	���� T ◦i S 
��
��� �


	

	����	 �� S 
	
 T �� �	��� i �� T ! J�� ��%	�� & 	����� ������'
���	 �� � ���$

,/



�� S 
	
 � �	��� i �� T ! 7 �	%� ��%	�� 	����� ��
 n + m − 1 �	���� � ��� �����	

���	���	 
	� ℓ ◦i λ & ��'���	 �� �������� �	�
�(

5�6 �
� �	��� %���� �� T 
	
 �����	 j* ��� ��� 1 � j � i−1* ��
��� 	 
��
	 �����	

�� �	%� ��%	��

5��6 �
� �	��� %���� �� S �	������ 
	� j* ��
��� 	 �����	 j + i − 1 �

5���6 �
� �	��� %���� �� T 
��	 �����	 & j � i + 1 � j � n* ��
��� 	 �	%	 �����	

j + m − 1!

�� -���	� 	 ������ ������	� 	 ����	 ���
���	 	
��	�

&3
���� �+�+

2 2 1 1 4 3 2

◦3 =

31

=◦2

1 2 3 2 1 1 3 2 4

���
������ �+ + 7 
	

	����	 �
�
� & ��
 ��'���� �
 ������	 �	 ��	
	�'�
	

�� ��%	��� �	�������! D	�����	* 
��� 
��� 1 � i � n* ��
	� �
� 	
�����	 ◦i :

Tree(n) × Tree(m) → Tree(m + n − 1).

����
���������
> � 
������'.� �� %�&���� �	���9	H 	 ��������	�� �	���	� �� 	�8

��
�	��&��	��
 �	�	� ��<� %�&���� �����	�	� T1, T2, T3> 
����� 	� ��	� �������	� �

������ 
����� 	 %�&��� 	���� �����	 
�� T3 �� �	�	 ��9��� �� 
����� 	� ��	�

G����	� ��	� ����	� 9��1	�� � ������ 
����� T1 
�� 	 %�&��� �����	 	��	&*� �	� 9��8

1	� 
��������������� ����� :�� ������ 	� ����	� 9��1	� ��� ���� 
	���> 	� %�&����

�����	� ���.� ��<���
	��

&#������?�
��> � ����	'.� ◦i : Tree(n)×Tree(m) → Tree(m+n−1) * �:��&	��	���>

��� 
���� ������� �	���	�> �� ���	'.� Q 	'.� �� ����� Σm×Σn �� Tree(n)×Tree(m)

� Σm+n−1 �� Tree(m + n − 1)�

����� #���������	��� �� $�������
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���� �� ����	�	 �� ���	'�� &�����	�� * ��	 �����	��H	'.� �� 
��
���� �� %�����	

	���
�	��&	� ����� 
��� �� 
	�� �	� %�����	�> ����8�� ��-��� ���-����> ��������8
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�	'(��> �"����� � ���	�� �� 
����7�� �� ����	�	�> �� :�	�� 	�������	����� 	 �������

4	�	 	� ��-��'(�� ��� 
��
����� �� ����	�	 ��&�� � �������	'.�> &�� M$/℄�

)
*����� �+(+ .
 
	�'�
	 ����� 	
������ ψ : O → O′ & �
� ���L��
�� �� �
�� 


��-�� Σj ����%�������� ψj : O(j) → O′(j) ���� ��� ψ1(1) = 1 � 	 �������� ������
�

& 
	
�����%	(

O(k) ⊗ O(j1) ⊗ · · · ⊗ O(jk)
γ
→ O(j)

O′(k) ⊗ O′(j1) ⊗ · · · ⊗ O′(jk)

ψk⊗ψj1
⊗···⊗ψjk ↓

γ
→ O′(j),

ψj
↓

	��� j =
∑

k jk!

)
*����� �+'+ .
� ��
���������	 �� �
� 	
����� O & �
 ��
��	 %��	���� V ���

��
��� �
 
	�'�
	 �� 	
������ O −→ End(V )* 	��� End(V ) & � 	
����� �	�

���	
	�'�
	� ��'���� �	 ��1
�	 ����� 
�
1���	!

���������	'(�� �� ����	�	� �.� �	��*� 9��:;��������� 
1	�	�	� �� ��������

�	��� �
� 	
������ �� 9	��> � ���-��� 	
��	 �����
	 �� �	���
��	� :�� �	�	 
	�	

�������� dn ∈ O(n) 
���������� ��	 	���
	'.� ���������	� ψ(dn) : V ⊗n → V � V

���% ����	��� ������ �� ��	 ��:;<�
�	 �� 	���
	'(�� ���������	��� 	� :�	�� �	�8

��9	H�� ��������	��� ���
���	� �� ������ �� 
������'(�� �� ����	'(�� � 	'.� ��

����� ���*���
� Σn ��	�� 
��� 	���
�	��&��	�� m(m(x, y), z) − m(x,m(y, z)) = 0 �

�������	�� �� ?	
��� l(l(x, y), z) + l(l(y, z), x) + l(l(z, x), y) = 0�� �	�� ��������	���

��Y���� 	 ��������	 �	 ����	�	�

���
������ �+�+ 4	��	�
� 
��
�	���	 ������	�
����* 	 
	�
���	 �� ������� �	���

�
� 	
�����* ��'���	 �
�
� 
��� ��
��	� %��	�����* 
	�� �������
���� ��� ��'���	


��� �������� 
����	��� 
	�	���� ��
&���
�! 8
 
����
���� 
	�� ��� ��'���� 
��� 	
 

������ �� ��
��	� �	
	����
	� �����������	 �� 	 
�	���	 ����	���� 
��	 
�	���	 
���� 

����	!

)
*����� �+!+ .
 
����	 @ �������� �	��� �
� 	
����� P & �
� ��
1��� �� ��
��	�

%��	����� M = {M(n)}n�1 ��� ��� Σn ��� @ ������� �
 
��� M(n) � ���� 
����� ��

,0



�
��
��-��

λl;m :
⊕

1�i�l

{
P(l) ⊗ P(m1) ⊗ · · · ⊗ M(mi) ⊗ · · · ⊗ P(ml)

}
→ M(m1 + · · · + ml)


��� ��������� l � 1 � m1, . . . ,ml � 1* �������$���	 �� 
�	
�������� ������ �� 
����	

�	��� �
� ������� �����$���� �	 
	���=�	 �� 	
������!

�����	������> �� 
����	 @ ������� ����� ��	 ����	�	 P * ��	 9	�D��	 M =

{M(n)}n�1 �	� :�� Σn 	�� Q ������	 �� 
	�	 M(n) �����	 �� 	���
	'(��

ρl;m :
⊕

1�i�l

{
M(l) ⊗ P(m1) ⊗ · · · ⊗ P(ml)

}
→ M(m1 + · · · + ml),

�	���9	H���� 	� 
�������������� �������	��� �	�	 �"���� Q ������	 ��	��H��	� �� 
��8

��7�� �� ����	�	��

)
*����� �+4+ .
 ����� I ��
� 	
����� P & �
� ��
1��� I = {I(n)}n�1 �� ���� 

�
��	� I(n) ⊆ P(n) ��%�������� 
��� ���	 @ ������� �� Σn �
 P(n) � ���� ��� I & �



����	 @ �������� � @ ������� �	��� P! "��	����
	� ��� ������	 
	� I � P!

����� $������� 
��������

�7���� ��	 �����	��H	'.� �	���	� �� 
��
���� �� ����	�	� ��	�	8�� �	� 
���	�	�

�������	�� �7������ �� �	�� ����	�	�> ����� ������> �.� 	 	
����� �	 �����	 ��1�	

SC M)�℄ � 	 ����	�	 OC∞ �&�� ��'.� $�$��� :�� ���
��&� 	� 
�!��� � ������X�
�	

����� 
��
���� ����� ��	�	�1� * ����	��� 
��
�	�� 
����� �7������ ���.� �� ��	�	�1�

��
���� �� ������ � 6�����JU M$℄


 �7����� 
	����
� �� ����	�	 * 	 ��� �������-���� {Hom(X⊗n,X)}n�1> ���8


����	 �� ��D
�� ����� 
	�D����� � �7����.� �	���	� �	 ��-��'.� �	 ����	�	 ���

�������-���� �	�	 ��	 ����	�	 
������	 * 9���	 �	 �������� 9���	� ��J	 C �� 
��8

J���� ��� ��������� �� C ���.� 
1	�	��� �� 
	����> � {Xc}c∈C ��	 9	�D��	 �� ���	'��

&�����	�� ����7	�	 ��� C� 4	�	 
	�	 n + 18���	 (c1, . . . , cn; c) �� 
����> 	���
�	��� �

���	'� &�����	� �	� 	���
	'(�� ���������	���


(c1, . . . , cn; c) �−→ Hom(Xc1 ⊗ · · · ⊗ Xcn ,Xc),

,3



	 	���
	'.� ��������	� ����	 ����	�	 * ��&	����� �	�	 ���	 
������'.� �� 	���
	'(��

����	���> 
�� 	 G��
	 �����&	'.� �� :�� 	 
������'.� ��&� �������	� 	 
���	������8

�	�� �	� 
����> 
��9���� ���
���� �	 ��-��'.� 	�	�7�� ���	 	���
	'.� ��������	� �	�8

��9	H 	� ��������	��� �� 	���
�	��&��	��> �:��&	��X�
�	 � �������� �������	�� �	�	�

�	 ��-��'.� 	 �������

)
*����� �+	5 ,��
���� C@
�������/+ ���� C �
 
	�����	 5���� ���
���	� ����	


��
��	� �� 
	���6! .
� ����	�	 C8
������	 P & ��'���� 
��� �������� ���������(

5�6 
��� 
��� n � 0* � 
��� (n+1) �
�� (c1, . . . , cn; c) �� 
	���* ��
	� �
 K ��
��	

%��	����(

P (c1, . . . , cn; c);

5��6 
��� 
��� 
	� c* �
 ���
���	 ���������� 1c : K → P (c; c)+

5���6 
��� 
��� (n + 1) �
�� (c1, . . . , cn; c) �� 
	��� � 	����� n kj �
��� �� 
	���

(d1,1, . . . , d1,k1), . . . , (dn,1, . . . , dn,kn
)

��
	� �
� �
��
���	 ����������(

P (c1, . . . , cn; c) ⊗ P (d1,1, . . . , d1,k1 ; c1) ⊗ · · · ⊗ P (dn,1, . . . , dn,kn
; cn)

γ
−→ P (d1,1, . . . , dn,kn

; c);

5�%6 
��� 
��� σ ∈ Σn* �
� �
��
���	 σ⋆ : P (c1, . . . , cn; c) → P (cσ(1), . . . , cσ(n); c).

�� �����	 	����	� ���	� �
�
�* ��%�
 �������$�� 
���	� �=�	
�� ����	�	� �	� ��

��'����	 ,!)( �� �
��
��-�� �
 5�%6 ��'��
 �
� ���	 @ ������� �	 ���
	 Σn �	 ��� 

���	 �� ��� σ⋆τ⋆ = (τσ)⋆ 
��� �������� τ, σ ∈ Σn+ 
��� ���
���	 1c & �
� ����������

@ �������� � @ ������� 
��� � �
��
���	 ���������� γ+ � '���
���� ���� �
��
���	 ��� 

����$ 
�	
�������� �� ���	
����%����� � Σn ����%���M�
�� �	 ������	 ������� ����	�	

@ ��'����	 ,!)!
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���� �� %�����	� ����� ��	 ����	�	 C8
������	 ���� ��� ��-���� �� 9���	

	�%���	 Q ��-��'.� 	
��	 �	�	 ����	�	��

,#



)
*����� �+		 ,P @2��
����/+ D��� �
� 	
����� C 
	�	���� P * �
� P  ������� &

�
� ��
1��� A = {A(c)}c∈C �� ��
��	� %��	����� ��� ��
��� �
��
��-��

αc1,...,cn;c : P (c1, . . . , cn; c) ⊗ A(c1) ⊗ · · · ⊗ A(cn) → A(c)

�������$���	 �=�	
�� �� ���	
����%�����* ���������� � ����%���M�
�� ����	�	� �	� ��� 


����	� �
�
�!

4�� �7�����> �	�	 
	�	 σ ∈ Σn> � ��	��	�	


P (c1, . . . , cn; c) ⊗ A(c1) ⊗ · · · ⊗ A(cn) → A(c)
αc1,...,cn;c

→ A(c)

P (cσ(1), . . . , cσ(n); c) ⊗ A(cσ(1)) ⊗ · · · ⊗ A(cσ(n))

σ� ⊗ σ−1
�

↓

αc σ(1
)
,..

.,c σ(n
)
;c
→

* 
����	��&�> ���� σ⋆ �����	 	 	'.� Q ��:����	 ��� �������� �������	�� ����H��	 ���

σ�

&3
����� �
 ��
����� 
��������

,	/ A�
�B� "�C��> � ����	�	 �� :���J� ��D'� �������H��	 ��� 5�����& M)�℄ * ��

�7����� �� ����	�	 28
������	� A���� 
	�� � 
��J���� ���%��� �� 
���� * C = {d, s}


������������� Q� 
���� �����
� � ������8
D�
���� 4�� ��-��'.� �����


P (d, . . . , d︸ ︷︷ ︸
n

, c, . . . , c︸ ︷︷ ︸
m>0

; d) = ∅, P (d, . . . , d︸ ︷︷ ︸
n

, d) = D(n)

���� D(n) * 	 ��� 
��1�
��	 ����	�	 ��� ���
�� ��:����� M$0℄ �

P (d, . . . , d︸ ︷︷ ︸
n

, c, . . . , c︸ ︷︷ ︸
m

; s) = SC(m,n)

���� SC(m,n) * 	 &	����	�� ��9����
�%&��> ���
���	 �� M)�℄ �&�� �	��*� L�����&�
1

M�#℄�> �� ���	'� �� 
��-���	'(�� ��� ���
�� ���J����� �����	��� �� 1 	�* m � �������8


�� ���������� ���J����� �����	��� �� 1 	�* n� ����� ������ �� ����8���
� ��������

�	��.� ��� �	�� 1 �� ��	���� 
 ����� σk 	�� �	���	������ ������	��� �� �"�����I

	 	���
	'.� ��������	� * ��-���	 
��	���8�� ���
�� � ����8���
�� ���� ���� ������ �

�������������� T	�	�	���8��T �� ������ ������-
	��� �&�� M)�℄ �	�	 �	�� ���	�1���I

)+



� �������� �������	�� �� P (d; d) * � ��"���� ���
� ����%���> 	���� 
��� � ��������

�������	�� �� P (s; s) * � ��"���� ����8���
� ����%����

,�/ ��
���� �� �
����� �����> ��J	 S = {∗} �� 
��J���� 
������� 	���	�

�� ��������� ���	 ����	�	 ��� ������� �	 ��-��'.� $��� * ��	 S8����	�	�


����� �7������ ��������	���� ���.� �� ������86�����JU M$℄�

��� ������� (��
�������� (����� � OC∞

��J	 T ��	 %�&��� � f : T → R3 ��	 9��'.� 
���D��	 :�� ����H �� 1�������8

-��� ����� T � ��	 ��	��� f(T )� ��H���� ���.� :�� T ���% ������1	�	 �� ���	'�

��
����	�� 
�� ������1� �	�� ��� f � �� �	���
��	�> f(T ) * �	��*� ��	 %�&����

��������� T ������1	�	 �� ���	'� ��
����	�� R3� 5	��� ��
��1�� �� 
���� ���8


��J����> �����&������� &	H��> o(T ) ⊆ edge(T ) ����� edge(T ) * � 
��J���� �� ���	�

	� 	����	� �� T � �	� :�� 	� 	����	� �� o(T ) ���.� 
�����	� �� ��	�� xy� 
 
��J���� ��8


��1��� o(T ) ���% 
1	�	�� � 
��J���� �	� 	����	� ��	�	� ��	��*� 
1	�	�	� 	����	�

	����	� �� 	���.� Q� 
���	� 	����	�> 
������������� 	�� ������ �	�
	��� �� �����

�� ���
� �� ����	�����

)
*����� �+	�+ .
� ��%	�� D��
���
���� D���� & �
� 
����� �� ��	�	
�� �� �� 

%	��� T 
���������� �	 ��
��	 ��
������	 
	
 �
 
	�����	 o(T ) �� ������� 
�����*


	���������	 �� �
���� ��	�	
��� ft ���� ��� 	 
	�����	 �� ������� 
����� 
��
���
�

�	 
���	 
��� �������� t ∈ [0, 1]!

5	��� �����	� 	����	� ��	�	� 
�� ������ ����� � 	����	� ���	
�	�� ��	��*� 
1	�	�	�

9�
1	�	� �� 	���.� Q� 
���	� 9�
1	�	�> ������ �	�
	��� �� �������� �� ���
� �� ���8

�	��� ���.� �����	�	� 
�� ������ 	��������> 
��� �	� -���	� )���	� � )����� �	

�%���	 2)�

&3
����+ �� �
	��	 
	
 � ��'����	 �
�
�(

1 2 2 13 3

= ,mas

1 1 22 3 3

�=

!

)�



 �&���� �	�
�	������ ��	�	� ��-��� ��	 ����	�	 $8
������	 �&�� ��'.� $���$��

�� 9	��> %�&���� �	�
�	������ ��	�	� �.� %�&���� 
�� $ ����� �� 	����	�� � 
��	���

�� �	�� %�&���� ���% ��-���	 	���	� :�	��� 	 
�� �	 �	�H �	 �������	 %�&��� 
���
���


�� 	 
�� �	 9��1	 �	 %�&��� ����� 	 :�	� ��	 &	� ��� 
��	�	� ��	 &�H ���	����
���

� ���� �� %�&��� :�� ���% ��	�� �	 ���
��'.� �	� 
�!��> ������� �	��	� 	� ������

����
D-
� �	 ����	�	 :�� 	� ���
��&��

����� ! $������ OC∞

����� �� �������H����� 	 ����	�	OC∞> ���
��	��� �	� 	����	� ��-��'(��� ����'	��8

��� ��-����� ��	 	��������	 �=����� �	�	 %�&���� ���9������ �	 ������	'.� ������	

��-���	 	���
�	���8�� ��	 ����'.� 	 
	�	 	����	 �	 %�&�����

)
*����� �+	� ,���
������ 
3�
���/+ .
� ������	'.� ���	 %�&��� T & �
�

	��������	 ξ �	 ��
��	 %��	���� ���� ∼= R|e(T )|* 	��� e(T ) & 	 
	�����	 �� �������

�������� �� T ! .
� ��%	�� 	�������� ���� ���	���� 
	� (T, ξ)!

���� δ �
� 
	�	��* ���	 &* �
� ��%	�� ��
 ������� ��������! .
� 	��������	

����� 
��	 & ��

���
���� �
 ����� ��� ���
�	��
	� @ ��%	��( (δ,±)! "���� ��%	���

	��������� (T1, ξ1), (T2, ξ2) � ���� T = T1 ◦i T2 	���� ��%	�� 	����� ����%&� �� �
�


	����
 ��� ���
���� � 
	

����������� �� 
	��� ����� ���$ � �	���! 7 	��������	 ξ �


T = T1 ◦i T2 & � 	��������	 ����$��� 
��	 ��	
	�'�
	

R
e(T2) × R × R

e(T1) ∼
−→ R

e(T1◦iT2) ∼= R
|e(T1)|+|e(T2)|+1

	��� 	 R ��
 �=
	���� �	 ���	 �������	 �� �=
�����	 ��
������� � ������ ���
�	���


����� 
��� 
	����
 ��� ��%	���! 4	
	 �	�� ��%	�� & 	����� 
	� 
	����
 �� �


�A
��	 '���	 �� 
	�	���* � 	��������	 �� �
� ��%	�� 
	�� ��� �����
����� �
� %�$

��� � 	��������	 ��� 
	�	��� ��� � 
	

-�
 ������
 ��
	������!

K�	��� ��	 %�&��� T ���� ��� �����	 
����	����8�� ��	 	����	 ������	 �� T
′

>

�����	��� ���	 ���	'.� ��� T
′

→ T � ��� �7�����
 → �

)$



)
*����� �+	 + �� (T
′

, ξ
′

) & �
� ��%	�� 	�������� � T
′

→ T * ����	 T
′

����$ �
�

	��������	 ξ �
 T ����%&� �	 
������	 ������� Re(T ) →֒ Re(T
′

)! N��	 &* �	
���	 

�� Re(T ) 
	
	 	 �	��	 �	 ��
� ��
��	 ��
���	� �� Re(T
′

) � ��'����	 �� ξ 
	
	 �

	��������	 ����$��� �	 �	��	!

����� ����� 	 �������� ���	'.� ��� ��-���	
 (T
′

, ξ
′

) → (T, ξ)� A	� ���
���(�� 	

������ ���	� 	� %�&���� T ��&�� ��� 
�������	�	� %�&���� ������	�	� (T, ξ)> �	� ��	�

���.� �����	�	� ��� T �	�	 ������-
	� 	 ���	'.��

��	 %�&��� 
�� 	���	� �� &*���
� ������� * 
1	�	�	 ��	 
	�	��� K�	�:���

%�&��� ���� ��� �����	 
��	���8�� �� �G���� -���� �� 
����	�� �� -���	� 	 ������

������	� �� ���� ����� �� 
����	� :�� ���.� ��	�	� �	�	 ���	� 	 ����	�	 OC∞�

1 2
. . .
. . . n

ln =

. . . . . .1 1

np,q =

. . . . . .
qp

�

�$���

��J	 T (n) � 
��J���� �� ���	� 	� %�&���� �	�
�	������ ��	�	� ������	�	� T 
��

n 9��1	� :�� ����� ��� �����	� 
��	���8�� 
����	� �	 9���	 np,q � lr> �	�	 �����

�������� ������&�� p, q, r �	���9	H���� 	 2p + q � 2 � r � 2�

��J	 To(p, q) ⊆ T (p + q) � ���
��J���� �	� %�&���� ������	�	� 
�J	 �	�H * ��	�	

� ��� p 9��1	� ���	
�	�� � q 9��1	� ��	�	� � Tc(n) ⊆ T (n) � ���
��J���� �	� %�8

&���� ������	�	� 
�� n 9��1	� ����	
�	��� � �	� :�� ���	� 	� 	����	� �.� ���	
�	�� ���

�	���
��	�> 	 �	�H * ���	
�	���

)
*����� �+	(+ "�'��
	� N∞(p, q) 
	
	 	 ��
��	 %��	���� �����	 
	� To(p, q) �

L∞(n) 	 ��
��	 %��	���� �����	 
	� Tc(n)* �
�	� �������$���	 @ ������	 T+(−T ) = 0*

	��� (−T ) ���	�� � ��%	�� T 
	
 	��������	 �=����� 	
	���!

N∞(p, q) � L∞(n) �.� ��	��	���
 �	�	 
	�	 %�&��� T ��� ��	� * �	�� ���

|T | =

⎧
⎨

⎩
|e(T )| + 2 − 2p − q, se T ∈ To(p, q)

|e(T )| + 3 − 2n, se T ∈ Tc(n)
�$�$�

���� |e(T )| * � �G���� �� 	����	� ������	� �� T �

),



$ �������� d �� �%����
� �� � ���
��

��	 &�H :�� ����� %�&���� � �� ���	'� &�����	� ��	��	�� ��� ��	� ���	��> &	���

	���	 �������H�� ����� ���	'� �� ����	��� ��9����
�	� �	���	� d �� ��	� 1�

)
*����� �+	' ,��
����� �
 
3������ �
 �8���

�/+ "�'��
	� 	 ����	��� ��

�7�	��.� �� &*���
�� d �����	 �
 ��%	��� 	��������� �� �������� �	�
�

d(T, ξ) =
∑

T
′
→T

(T
′

, ξ
′

),

���������	 �� 
	� ����������� 
��� 	 ��
��	 %��	���� �����	 
���� ��%	���! 7 	���� 

����	 �� T ′ ��%� ��� 
	

��1%�� 
	
 � 	��������	 �� T * ��� 
	
	 ���
���	 �� "�'����	

,!)?!

�� �	���
��	�> � ����	��� d ���% ��-���� ��� ���	'�� N∞(p, q) � L∞(n)�

7��������� �+	�+ � 	
����	� �� �=
����	 �� %&���
�� �������$ @ ����� �� E�����$ �


������	 @ 
	

	����	 �� 	
������

d(T1 ◦i T2) = d(T1) ◦i T2 + (−1)v(T1)T1 ◦i d(T2)

	��� v(T ) & 	 �A
��	 �� %&���
�� �� T ! � 	
����	� d ��
�&
 �������$ d2 = 0 � ��


���� )* 	� ����* & �
 	
����	� �������
���!

"�
	�������	! 4������	����� �����&	��� :�� �	� ��	 ������	'.� �7����	 	 ��	

%�&��� * �:��&	����� 	 ��-��� ��	 ����� �� ��� 
��J���� �� 	����	� ������	�� �����

:�� ��	� ������ ���	 ����	 %�&��� ��-��� 	 ����	 ������	'.� �� ��	 ����� ���

��&	�	 �	 ����	 	��	&*� �� ��	 ������	'.� �	��

����� �����> 	 ������	'.� �� T1 ◦T2 * ��-���	 ���	���8�� �������� 	 ������	'.�

�� T2 ������	 �	 	����	 ������	 ���	�	 ���	 
��	��� � -�	��H	��� 
�� 	 ������	'.�

�� T1� 4�� ����� �	��> �� T ′ → T > 	 ������	'.� �� T ′ * ��������	�	 ���	 ������	'.�

�� T �����&	��� :�� T ′ 
���*� ��	 	����	 ������	 	 �	�� � 
���
	���8�� ���	 	����	

�	 G����	 ����'.� � �	������8�� 	 ����� �	� ���	�� 	����	� �	�	 ���	 ������	'.�

�� T �

))



����	� ���	� �����&	'(��> 	 ���	��	��

d(T1 ◦i T2) = d(T1) ◦i T2 + (−1)v(T1)T1 ◦i d(T2)

�����8�� �����&	��� :�� (−1)v(T1) * ���
��	����� � ���	� �	 ������	'.� ��
���%��	

�	�	 ��&	� 	 ������	'.� �� T1 ◦i d(T2) �	 ������	'.� �� d(T1 ◦i T2)�

4	�	 �����	� :�� d2 = 0> �� &���	 �	 ���	��	�� 	
��	> �	��	 ���&	� :�� d2(δk) =

0 �	�	 :�	�:��� 
����	 δk� 5	��� ��	� 	 �������� ���	'.�
 δk ◦ δl :=
∑k

i=1 δk ◦i δl>

�� 9���	 :�� dδl =
∑

l′+k′=l+1 δl′ ◦ δk′ � ����	 �	��	 &���-
	���� :��

d2δl =
∑

l′+k′=l+1

d(δl′ ◦ δk′) =
∑

l′+k′=l+1

(dδl′ ◦ δk′ + δl′ ◦ dδk′) =

=
∑

l′+k′=l+1

[( ∑

l′′+k′′=l′+1

δl′′ ◦ δk′′

)
◦ δk′ + δl′ ◦

( ∑

l′′′+k′′′=k′+1

δl′′′ ◦ δk′′′

)]
=

=
∑

r+s+t=l+2

δr ◦ δs ◦ δt −
∑

r+s+t=l+2

δr ◦ δs ◦ δt = 0.

����	 ������� �	� 	 �������� ��-��'.�


)
*����� �+	! ,��
���� OC∞ ��� �����/+ ���� {o, c} �
 
	�����	 ������	 ��


	���! 7 "/ 	
����� OC∞ & ��'���� �� �������� �	�
�( 
��� 
��� n �
�� �� 
	���

(c, . . . , c, o, . . . , o; o)*

OC∞(c, . . . , c︸ ︷︷ ︸
p

, o, . . . , o︸ ︷︷ ︸
q

; o) = N∞(p, q), se 2p + q � 2 �$�,�

�* �� q = 1 � p = 0 ����	 OC∞(o; o) = K 	��� K & 	 ��
��	 �����
����	��� �����	


��	 ���
���	 ���������� 1o ∈ OC∞(o; o)!

D	� 	���	 ���	* 
��� 
��� n �
�� �� 
	��� (c, . . . , c, o, . . . , o; c)*

OC∞(c, . . . , c︸ ︷︷ ︸
p

, o, . . . , o︸ ︷︷ ︸
q

; c) =

{
0, se q �= 0

L∞(p) se p � 2 � q = 0.
�$�)�

B����	 p = 1 � q = 0 �	%�
���� OC∞(c; c) = K & 	 ��
��	 �����
����	��� �����	


��� ���������� 1c!

)/



OC∞ * ��	 �R8����	�	 $8
������	 
�� 	���
	'.� ��������	� �	�	 ���	 	���
	'.�

����	� ��-���	 �	 �	�� �%�&����� ���	 ����	'.� �� 
��	��� �� %�&���� � ��9����
�	�

�	�� ���� ����	��� �� �7�	��.� �� &*���
�� d�

���
������ �+	4+ <	�� �� ��� N∞ = {N∞(p, q)} & �
 ����� �� OC∞* �!�!* N∞ �

OC∞!

��	 
�!� *> ��� ��-��'.�> ��	 %�����	 ����� 	 ����	�	 OC∞ � ����	��� *

�	�	 ��� �� �	� �� ���	'�� ��9����
�	�� ��	��	��� ���	������ �����	��� (Hc, dc)

� (Ho, do) ������� �� ��	� 9	�D��	� �� ����	'(��
 l = {ln : H⊗n
c −→ Hc}n�1 �

n = {np,q : H⊗p
c ⊗ H⊗q

o −→ Hc}p+q�1> �	�� :�� l1 = dc> n0,1 = do> (Hc, l) * ��	

%�����	 L∞ � ���	� 	���
	'(�� �	���9	H�� 	� ��������� ���	'(�� �&�� 	 ��-��'.� ������	�

�� M�)℄�


0 =
∑

σ∈Σp+r=n

(−1)ǫ(σ)n1+r,m(lp(cσ(1), . . . , cσ(p)), cσ(p+1), . . . , cσ(n), o1, . . . , om) +

+
∑

σ∈Σp+r=n

i+s+j=m

(−1)µp,i(σ)np,i+1+j(cσ(1), ··, cσ(p), o1, ··, oi, nr,s(cσ(p+1), ··, cσ(n), oi+1, ··, oi+s), oi+s+1, ··om).

µp,i(σ) = ǫ(σ)+(cσ(1) +· · ·+cσ(p))+(o1+· · ·+oi)+(o1+· · ·+oi)(cσ(i+1) +· · ·+cσ(n)).

A� ��"7��� �7����� ���
������ 	����	� �	� ��������	��� �	� 
�!�� �� ������

�� %�&���� � �� 	���
	'(�� ���������	���� ��	����� 	 ���	'.�
 ∂f = dV f−(−1)|f |fdU

�	�	 :�	�:��� 	���
	'.� ��	��	�	 f : (U, dU ) → (V, dV ) ����� �R8���	'��� ��

�	���
��	�> �	�	 ��	 	���
	'.� �	 9���	 f : U ⊗ · · · ⊗ U → U > �����


∂f = df − (−1)|f | f (d ⊗ 1 ⊗ · · · ⊗ 1 + · · · + 1 ⊗ 1 ⊗ · · · ⊗ d).

&3
���� �+�5 ,�3����� �
 ����/+ <���� �=�

�	 �������
	� ������ �	� �= 

�	
�� �� �4�7 �����	 ��%	��� 
��
���
���� 
����� � 	 	
����	� �� �=
����	 ��

)2



%&���
�� d!

(∂ n1,1)(c, o) = n0,2(n1,0(c), o) ± n0,2(o, n1,0(c))

+=d

1 2 1 2 2 1

�$�/�

(∂ n2,0)(c1, c2) = n1,0(l2(c1, c2)) ± n1,1(c2, n1,0(c1)) ± n1,1(c1, n1,0(c2))


 � � 
 �
 � 


d = + + �$�2�

� 
��
���	 �=�	
� ��$ ��� � �
��
���	 n1,0 : Hc → Ho ��%� Hc �	 
����	 �	
	��
�
	

�� Ho! 7 ������� ������	 ��%� � �
� ��� 
�	
�������� 
��� 
�
������� ��� �4�7�!

7���=	 ���
���
	� 	 ��� ��
�
�	 ��	
&���
	! 
	����
	��� ��	
����
�
���� �	 �� 


��	 �� 
����	� 
��
��	 2�1� �F�3 
	� #	����%�
�* ����	 �
� ��� 
�	
��������


�
������� ��� �4�7�!

<	 
��=�
	 
�
1���	 ����	��$���
	� 
����� %��������� 
	
 
������� 5�
� ��
& 


�� �� %�������� �������
��%�� �� ���� 	 �	��	 ���� �������'
��	 �
 
	

	������


��� 
��� 
	��
����	6! <�� %��������� 
	
 
������� �� �
����������* � ���������

�� �4�7 ���� �� 
���� �	�
� 2
	��'
���3! 7���=	 ��
	� �
� ���������	 �� �
 �	�

��
��	� ��� ����	 ���
����	� �	 
��=�
	 
�
1���	! J���� �� �	 ��
��	 C(2, 0) 	 ����

�	
	�	��
�
���� & �
 ���
	 
�������	 
��* 
	
	 %�������� 
	
 
�������* ��
 ����� 

���� 
	������ ����=	! C(2, 0) �	� ����$��	 
	� #	����%�
� 
	
	 2J�� 8O�3! 7 '����

����=	 
	���� ��
�&
 � �	������	 �� �������'
���	 �	 �	��	 �	 J�� 8O� 
	� ��%	���

)0




��
���
���� 
�����(

�

� � � �

� �

� � � �

1

��� ���

�$�0�

P����
���� 	����%�
	� ��� �� 
�	
������� ��
 
	���
���� �� ���	
����%����� � ���� 

������ �� C�
	�� 5
�������� �� ��������� �� �4�76 
	��
 ��� %����� ����%&� �� �� 

%	��� �
��
���	 �� d @� 
	�	��� l3 � n0,3 5%�� 9,:℄6!

)3



�������� 


�� ���	��� C(n) � C(p, q)

A���� 
	�D���� ���
�	��� 	 	����	��� ����*���
	 �	� 
�!��� �����	 ���1��

������	�� ��&� ��J	 	�������	��> �7���� 	����	 ������	���	�� �	 �	����	 
��� �

	������ * 	�������	��� 
 ��J���&� ����� 
	�D���� * ��-��� �� ���	'�� C(n) � C(p, q)

�7���
��	��� ��	 ��������	 �� &	����	�� 
�� 
"������� ���	 G����	 ���% ��	�	 ��

��"7��� 
	�D���� ���� �����	����� :�� 	 �	��� ����&	��� �	 ����	�	 OC∞ * ������9	

Q �������	 ���1	 �� ����� E1 �	 ��:;<�
�	 ����
��	� �� C(p, q)> &�� 4������'.� )�2�

� &	����	�� ��9����
�%&�� �	 :�	� 	� 
�!�� ���.� �� 
���	 9���	 
���-
	�	� *

�����	 	��	&*� �	 &���.� ��	� �	 
���	
��-
	'.� �� ������86	
41������ ������ �

6	
41����� �������H��	� ��	 
���	
��-
	'.� �� ���	'�� �� 
��-���	'(�� ������

�� 
����7�� �	 R�������	 ���*���
	 	 :�	� 9�� 	�	��	�	 ��� �7����� � ������ �	�	

� 
����7�� �	 R�������	 ��9����
�	� ��	�> M�℄�

!�� )�������� 
�� ��������

�� ��� ��J���&�� ����� ��	�	�1� �&�� �	�D���� )� * �����	� 
��� 	 ��������	 ��


�!� ���% C
���-
	�	E �	 ����	��-
	'.� �� ����� �	 &	����	�� 
�� 
"������ �����	

���	 
���	
��-
	'.� ��6 �� ���	'� �� 
��-���	'(�� �� ������ �� ����8��	�� ����8

���� 9�
1	���

)
*����� �+	 ,=���
���
� )�D
�
�
�2�
� 
�� ����
�
�/+ .
� %�������� ����� 

)#



��
��%�� 
	
 
������� 5	� ��

���
���� %�������� 
	
 
�������6 & �
 ��
��	 �	
	����
	

�� ������	�Q M ��� ��� �������� 
	��	 x ∈ M ��
��� �
� %�$������� ������ �	
� 

	
	��� � �
 �����	 �	 
	�� ��

��
��� (R�0)
×d

(R�0)
×d = {(x1, . . . , xd) ∈ R

d : x1, . . . , xd � 0}.

8��� �����
� �� %�$�������� ��%� ��� ��� ��� ��������� ���� %�$�������� �� ����� 


�
��
 �������
��%��
����* �	 ������	 �� �������
���������� ��'���� �	 
	�����	

(R�0)
×d!

���
������ �+�+ <	�� �� ���* 
	
	 	 
	�� ��

��
��� (R�0)
×d & �	
�	
	��	 �	

��
� ��
��	 ��
���	� Hd = {x ∈ Rd : xd � 0}* ����	 �	�� %�������� 
	
 
�������

& �	
�	
	��� � �
� %�������� 
	
 �	��	! P���� �	��� %��������� 
	
 
������� ��

��$ ������	* 
	�����	* �	 
	���=�	 �� %��������� �������
��%���* 
	�� �	 
	���=�	 ��

%��������� �	
	����
�� ���� �� ����$�
 @� %��������� 
	
 �	��	!

)
*����� �+�+ "��� �
� %�������� 
	
 
������� M ! � �	��	 �� 
	��
����	 k ��

M & ��'���	 
	
	 	 
	�����	 �� �	�	� 	� 
	��	� �� M 
	
 
		�������� (x1, . . . , xd)

	��� 
��	 
��	� k 
		�������� ��	 ����� xi1 = · · · = xik = 0 � ���� ���	���	 
	�

∂kM ! B����	 k = 0* 
	� ��'����	 ��
	� ∂0M = M !

&3
���� �+ + �� M1, . . . ,Mn ��	 %��������� 
	
 �	��	* ����	 ��� 
�	���	 
���� 

����	 M = M1×· · ·×Mn & �
� %�������� 
	
 
�������! ∂kM & 	 
	�����	 �	� 
	��	�

(p1, . . . , pn) 	��� 
��	 
��	� k 
	��	� pi1 , . . . , pik ��	 
	��	� �	 �	��	 pi ∈ ∂Mi!

�� ���	� ∂kM �.� * ��	 &	����	�� ��9����
�%&��� �	��	 ���	� � 
��� M = I×3

� �����&	� :�� ∂M = ∂1M �.� ��� ��������	 ��9����
�%&��� 4�� ����� �	��> �	�	

:�	�:��� &	����	�� 
�� 
"������ M > ∂kM \ ∂k+1M * � 
��J���� ��� ������ 
��


������	�	� (x1, . . . , xd) �	�� :�� �=���
���� k 
������	�	� �.� ���	�� ∂kM \∂k+1M

* ��	 &	����	�� ��9����
�%&�� ����� 9	�� ���� ��� &���-
	�� 	��	&*� �� �� 	��������

�7	�	����� 	�%���� 	� ��	��> �� 
����7�� �� &	����	��� 
�� �����> �	�	 ���&	� :��

� ����� * ��	 &	����	���� ∂kM \∂k+1M �� ���	� * ��	 ���.� ���J���	 �� &	����	���

��9����
�%&����

/+



)
*����� �+(+ 4��� 
	

	����� 
	��=� �� ∂kM \ ∂k+1M ���� 
��
��� �� ����	��

�� 
	��
����	 k! 8%������
���� �	� ��������
	� �	 ��
��	 ∂kM \ ∂k+1M 
	
	 	�

����	��� �� 
�������.� k!

&���� ! 
����
���
�	
� �
�

�	�	 ��	 &	����	�� 
���	
�	 ��� ����� M �� ������.� d> &	��� ��-��� ��	


���	
��-
	'.� ��

Confn(M) = {(x1, . . . , xn) ∈ M×n | xi1 �= xi2, ∀i1 �= i2}

= M×n \
⋃

i�=j

∆{i,j}, �,���

� ���	'� �� 
��-���	'(�� �� n ������ ��������� �� M > ���� ∆{i,j} = {(x1, . . . , xn) ∈

M×n : xi = xj}�

)
*����� �+' ,<��E��/+ ���� L ⊂ M �
� ���%�������� 
	

�
�� �� M 
	


dimL < dimM ! "�'��
	� 	 R�	S�
 �� M ����%&� �� L* ���	���	 Bl(M,L)* ��

�������� �	�
�! D��
����
���� �	
�
	� �
� %�$������� ������� U ⊂ M �� L* �

����	 ��'��
	�

Bl(M,L) = (M − U).

�� ����* 	 ��	S�
 & ��'���	 
	
	 	 
	

��
���	 �� �
� %�$������� ������� �� L!

���
������ �+�+ <	�� �� ��� Bl(M,L) & �
� %�������� 
	

�
�� 
	
 �	��	 
��	

������	� & ����	
	��	 � M−L � 
��	 �	��	 & ����	
	��	 �	 '����	 �� ������� ���	
���	

�	 '����	 �	�
�� � L �
 M !

� '����	 �	�
�� ���� ���	���	 
	� N(L ⊂ M) � 	 '����	 �� ������� ���	
���	*


	� S(N(L ⊂ M))!

4	�	 ���� ���
��J���� S ⊆ [n] = {1, . . . , n}> ∆S �����	 	 ����� ��	���	� ��

MS = Map(S,M) 
���������� �	� 	���
	'(�� 
����	����� ��J	 Bl(MS ,∆S) � ���P8��

�� MS 	��	&*� �	 ��	���	� ∆S � ��� �������� * 1�������9� 	 MS\∆S � ��� ����� *

� -��	�� �� ��9��	� S(N(∆S ⊂ MS)) �� -��	�� ����	� Q ����� ��	���	� �� MS �

/�



��������� 	 ���J�'.� 
	����
	 πS : M [n] → MS ��-���	 �	�	 :�	�:��� ���
��8

J���� S ⊆ [n] 
�� |S| � 2� Confn(M) * ��&	�� �� �������� �� Bl(MS ,∆S)> ����> 	

���J�'.� ��������	 ��	 	���
	'.�


o
πS : Confn(M) → int(Bl(MS ,∆S)).

����
	��� ���	� 	���
	'(�� J���	� �	�	 
	�	 S �
�� |S| � 2� ��� 
��� 	 ��
���.�
�f0 : Confn(M) → M [n] ������� �� ������1�

f : Confn(M) →֒ M [n] ×
∏

|S|�2

Bl(MS,∆S). �,�$�

� &	����	�� Q ������	 ���% �����	�	 ��� B� ���� B * �� ������� �� &	����	���


���	
�	� 
�� �����> ��	 * ��	 &	����	�� 
���	
�	 
�� 
"�������

)
*����� �+! ,�����
��*
���� �F0/+ 7 
	

�
��'
���	 �P0 �� Confn(M) &

��'���� 
	
	 	 ��
�	 �� ��� �
���
 
��	 
������	 �
�
�

M [n] = f(Confn(M)).

���
������ �+4+ <���� �������	 	 ��
��	 �� 
	�'�����-�� ���� ���	���	 
	� M(n)

	� Confn(M) � ��� 
	

�
��'
���	 ��6* 
	� M [n] 	� Confn(M)!

5	��� 	���	 ���
��&�� M [n] ⊂ B �7���
��	������ �� ����� �� B * 
�	�	����� ��

�	� (�x, {�xB,S}) ���� �x * �� �������� �� M [n] � �xB,S * �� �������� �� Bl(MS ,∆S)

�	�	 
	�	 ���
��J���� S ⊂ [n] 
�� |S| � 2� �	�� �	� �	�> ��J	 �xS 	 ��	��� �� �xB,S

���	 	���
	'.� ��	S�	S� �� Bl(MS,∆S) �� MS � �� �xS �.� ������
� 	 ∆S> ���.�

������������ �xB,S = �xS � �	�� 
����%���> �xB,S �	��*� 
���*� 	 ��9���	'.� �� ��

����� �	 -��	 �� ∂Bl(MS ,∆S) = S(N(∆S ⊂ MS)) ����� �xS�

5	��� ���.� 	�	���	� 	 ��9���	'.� 
�����	 �� ������� 
	��� �	�� �xS ∈ ∆S> ��J	

z ∈ M 	 ��
	��H	'.� 
���� �� ����� �� &*���
�� �� S� � -��	 N(∆S ⊂ MS)|�xS
����

��� ������-
	�	 
�� [TzM ]S/TzM � :��
����� �� 
��J���� �� ���	� 	���
	'(�� �� S

�� TzM ���	� ��	���	'(�� ��� ��J	> :��
����� ���	 	'.� �� [TzM ]S �	� 	���
	'(��


����	���� �� S �� TzM�� 
 -��	�� �� ��9��	� 	���
�	�� * �	�� ��� �	�� ��

:��
����� �� 
��J���� �� ����� ��������� �.� ����� �� -��	�� ����	� ���� �����

/$



R+ �	� ���	�	'(��� �	�� �� ����� �uS ∈ [TzM ]S > 	 ��	 "����	 ���	� 	'(�� 
�����	�	�

�� TzM � R+ ���% ��
���	 [�uS ]� S(N(∆S ⊂ MS)) * ����	��� � ���	'� �	� "����	�

[�uS ] �	�� :�� �� 
���������� �� �uS �.� �.� ����� ���	�� ���������� �.� ����� ��

-��	�� ����	��� [�uS ] * 
1	�	�� �� ������	 �� S �� z ��� �7����� :�� �7����	�����

����	 ����> �� ����	��� ���.� &����� 
��� 
	�'������	�� ������%�� �� �	���� � � �����

z> ����� �� �	�� �	 -��	> ���% 
1	�	�� 
	��	 �� 
	����	� �	�	 ��	 �*���
	 ��

M > ����	��� ����� ��� ���&�
	����� ���������	��� ��� &������ �uS �� ����	 � �

�������	�� Q ��	���	� ∆S � ���% 
��&������� ��-��� uS,j = 0 ∈ TMxj
:�	��� j /∈ S>

�� 9���	 :�� ����� �uS ∈ T�xM [n] �� ����	 � � �������	� 	 ∆̄S ����� ∆̄S * 	 ��	���

��&���	 �� ∆S ∈ MS ���	 ���J�'.� 
	����
	 πS : M [n] → MS��

!�� � 
����
��#
���� C(p, q)

5	��� 	���	 �����	� 	 
���	
��-
	'.� ���
���	 	
��	 �� 
	�� �� 
��-���	'(�� ��

������ �� ����8��	�� ��������> &�� L�����&�
1 M$+℄� ��J	� p, q �������� �.� ���	��&��

�	���9	H���� 	 ������	��	�� 2p + q � 2� ���9(p, q) �����	 � ���	'� �� 
��-���	'(��

�� ������ �� ����8��	�� �������� 9�
1	�� H = {z ∈ C | Im(z) � 0} 
�� p ������ ��

�������� � q ������ �� ����� ����	 ��	��


Conf(p, q) = {(z1, . . . , zp, x1, . . . , xq) ∈ Hp+q | zi1 �= zi2 , xj1 �= xj2 ∀i1 �= i2, j1 �= j2

Im(zi) > 0, Im(xj) = 0 ∀i, j}

Conf(p, q) * � ������� 
	�����	�� �� �� ���8
��J���� 	����� �� (H>0)
p ����� H>0 *

� �������� �� H� � �� ���
��J���� 	����� �� Rq � 
����:;��������� * ��	 &	����	��

�� ������.� 2p + q� ��J	 C(p, q) � :��
����� �� Conf(p, q) ���	 	'.� �� ����� �	�

��	��9���	'(�� 	-�� :�� -7	� 	 ���	 ��	� ������&	��� ��	 ������	'.�


C(p, q) := Conf(p, q)
/

(z �→ az + b) a, b ∈ R, a > 0.

� 
����'.� 2p + q � 2 �	�	��� :�� 	 	'.� * ��&�� � ����	��� C(p, q) * ��	 &	����	��

��9����
�%&�� �� ������.� 2p + q − 2 �

C(p, q) �	���	������ �.� * 
���	
�	 �	�	 2p + q > 2 ���� �� ������ �� 
	�	


��-���	'.� ��&�� ��� ��������� � �����> ����	���> �� 	���7��	� ����-���	������

/,



� ��*�	 �������&	 �	�	 
�������� 	 
���	
��-
	'.� ��6 �� C(p, q) * ��
���� �.� 	��8

�	� ���	� 	� ����D&��� ����'(�� ������� �� H� ���� 	����� ������ ��������� ���.�

�������� Q 
����.� �	� �	��*� ���	� 	� S
��-���	'(�� ���	��&	�T ��� ������ :�� ��8

�.� 
��������� ����� �� ����������� ���	 
���	
��-
	'.� �� �	����	 �	�� ���
��	>

&	��� 	�	���	� � 
	�� �� 
��-���	'(�� �� ������ �� ��	�� 
�����7��

&���� ��������	��� �� ������ �� ����� 
�����%� C

��J	 Confn(C) � ���	'� �� 
��-���	'(�� �� ������ �� ��	�� 
�����7�

Confn(C) = {(z1, . . . , zn) ∈ C
n | zi1 �= zi2 , ∀i1 �= i2}


�� n � 2� ���	��� � :��
����� ���	� ��	��9���	'(�� 	-�� z �→ az + b ���� a ∈ R>

a > 0 � b ∈ C> ���.� ��-�����
 C(n) := Confn(C)
/
(z �→ az + b)� ��	���	����� 	

C(p, q)> C(n) * ��	 &	����	�� ��9����
�%&�� �� ������.� 2n − 3�

5	��� 	���	 �����	� 
���	
��-
	'.� ��6 �� ���	'� C(n)� �	�	 
�	��� [�z] ��


��-���	'(�� �z = (z1, . . . , zn) �� Conf(n) * ���������	�	 ���&�
	����� ��� ��	


��-���	'.� �	 9���	 (0, eiθ, z3, . . . , zn)� �� 9	��> � �������� ����� z1 ���� ���

��&	�� Q ������ ��� ��	 ��	���	'.� z �→ z − z1 � � ������� ����� z2 �� :�	� * �.�

���� ���:�� �������� �� z1� ���� ��� ��&	�� �� 
D�
��� ����%��� S1 ��� ��	 ���	�	'.�

z �→ 1
|z2|

z�

� 
���	
��-
	'.� ��6> * ��-���	 �	�	 
��-���	'(�� �� ������ ���	 &	����	��


���	
�	� 4������ 
�������	� 
	�	 zi 
��� ������
���� Q 
���	
��-
	'.� ���

�� ����� C ∪ {∞} = S2� ���-���	'(�� �� n ������ ��������� �� C ����� ���


�������	��� 
��� 
��-���	'(�� �� n + 1 ������ ��������� �� S2 ���� � G�����

����� �� 
	�	 
��-���	'.� * -7	�� 
��� ∞� ���
������ :�� C(n) * ���	� 	�

�������� ���	'�


C(n) = {(z1, . . . , zn, zn+1) ∈ Confn+1(S
2) | z1 = 0, z2 = eiθ, zn+1 = ∞}

= {0} × S1 × (S2)n−2 × {∞} \
⋃

i�=j

∆{i,j} �,�,�

���� {0} � S1 �.� &����� 
��� ���
��J����� �� C ⊂ C ∪ {∞} = S2 �> �	�	 :�	�:���

1 � i, j � n + 1> ∆{i,j} * 	 {i, j}8��	���	� �� (S2)n+1� � 
���	
��-
	'.� C(n)

/)



���-���	 
��� � 9�
1� �	 ��	��� �� ������1� ,�$� ��&� ��� 
�������	�	 
��� �����	

	��	&*� �� ��	 ��:;<�
�	 �� ���P��� ����	��� ����� 
	�	 ��	���	��

���
������ �+	5+ .
� 
	�'������	 �z �� n + 1 
	��	� �
 S2 ��� ������ �� �	�
�

�z = (0, eiθ , z3, . . . , zn,∞) ���� 
��
��� �
� 
	�'������	 �� 
	����	 �	�
��! "����


	��	 �
 ������* 
��� �������� ���
	�����	 �� 1���
�� S ⊂ [n] 
	
 |S| � 2* �	�	

���
���	 �� (S2)S ��%� ��� 
	��������	 
	
	 � ��������	 �z|S �� �
� 
	�'������	

�z ∈ (S2)[n+1] �� 
	����	 �	�
��!

'��
��	
� � ���������(�	
� �� C(n)

=��
�	������ �������	��� :�� � �������� �� C(n) * 1�������9� 	� ���	'� C(n)� ?%

&���� :�� C(n) * ��	 &	����	�� ��9����
�%&��> ����	��� 
	�	 ����� �� �������� ��

C(n) 	����� �� ������	 �� 
������	�	� �	�� ���	� 
������	�	� �� C(n)�

5�J	��� 	���	 
��� ���
��&�� � �	�	�����H	� �� ������ :�� �.� ���.� �� ����8

����� �� �� ����� P = (�x, {�xB,S}) ∈ C(n) �.� * ����� ��������> ���.� �7���� ��

���
��J���� S ⊂ [n] �	� :�� �xB,S ∈ S(N(∆S ⊂ (S2)S))� �� ����	� �	�	&�	�> �xB,S

* �� S
���������T �� ����� P :�� ���% �� -��	�� �� ��9��	� 	���
�	�� 	� -��	��

����	� �	 ��
���.� ∆S ⊂ (S2)S �

)
*����� �+		+ �� 
	��	� �xB,S ��� 
�����
���
 �	 '����	 �� ������� S(N(∆S ⊂

(S2)S)) ����	 
��
��	� �� 2
��-���	'(�� ���	��&	�3! 4��� 
	�'������	 ������%� ��


��� 
	����
	������ 
	��	 �� ���� �	 '����	 �� �������! �� 
	��	� �� ���� �xS ∈ ∆S

��	 ���	� 
	� �
� ���L��
�� 
	������� �
 (S2)S! 7 �
���
 �� ���L��
��* ���


	��&
 �
���� �
 ���
���	 x ∈ S2 = C ∪∞* ���� 
��
��� �� 2����� �� 
����.�3

�	� 
	��	� ����=��	� 
	� S!

6
�� �+	�+ "� 
��
� �	�
� 
	
	 �� ��'����	 �	 ��
��	 C(n)! 4	�'�����-��

������%�� �xB,S ��	 ����� 
	� ���L��
��� �� 
	��	� (xs1 , . . . , xsk
) �
 C∪{∞} �	
����


����	 ��������-�� � �������-��( z �→ az + b* 
	
 a > 0 � b ∈ C!

"�
	�������	! ���� � -��	�� ����	� ���% ������-
	�� 
�� ��	 &�H��1	�'	 ����8

�	� �� ∆S �� (S2)S > 
	�	 ����� �� S(N(∆S ⊂ (S2)S)) ���� ��� &���� 
��� ��	

��:;<�
�	 �� ������ (xs1, . . . , xsk
) ∈ (S2)S ���� ���� ����� ���� ������ �.� ���������>

//




	�� 
����%��� 	 ��:;<�
�	 �� ������ 
������������	 	 �� ����� �	 ��	���	� ∆S ���

��J	> 	� &���� ���� �� -��	�� ����	�� � �.� ������	 ���������	� �� ����� �� -��	��

�� ��9��	� 	���
�	���

��J	 x ∈ S2 � ����� �� 
����.� ��9������ Q 
��-���	'.� ���	��&	 �xB,S = (xs1 , . . . , xsk
)�

� -��	 N(∆S ⊂ MS)|�x|S �� -��	�� ����	� �� �x|S ���� ��� ������-
	�	 
��

(TxM)S/TxM > ���� TxM 	�� �� (TxM)S &�	 ��	���	'(��� 4���	��� 	� 
��-���	'(��

���	��&	� (xs1 , . . . , xsk
) ��&�� ��� ���	�	� �"���� ��	���	'(��� ���� � -��	�� �� ��8

9��	� * � :��
����� �� 
��J���� �� ��������� �.�8����� �� -��	�� ����	� ���� �����

R+ �	� ���	�	'(�� � �� ��������� �.�8����� �.� ���
��	����� 
��-���	'(�� ���	��8

&	� [�xS ] ∈ (TxM)S/TxM ���� �� 
���������� �
������	�	� �� &���� ����	�� �.�

�.� ���	� ���	��> ����� :�� 	� 
��-���	'(�� ���	��&	� ��&�� ��� �	��*� ���	�	�

�"���� ���	�	'(���

�� 
��-���	'(�� ���	��&	� �.� �	�	� ����	��� ��� ��:;<�
�	� �� ������ �x ∈ (S2)S

�"���� 	 	'.� ���	� ��	��9���	'(�� 	-�� z �→ az + b� ��������	��� 	� 
��-���	'(��

���	��&	� �x ���� ����� �� ������ �.� ���������> ������� ���
��	����� ��	 
"��	

�� ���	'� C(k) ���� k = |S|� ��������	��� 	���	� ������ P = (�x, {�xB,S}) �	��

:�� �xB,S ������
� 	� ����� ∂Bl((S2)S ,∆S) � :�� �� ���	�� �xB,S′ ���.� �� ��������

�� Bl((S2)S
′

,∆S′)> � �	
��
D��� 	
��	 ��� �����	 :�� �	�� ������ �.� ���
����� ���


��-���	'(�� 
������� �� ����� �� 
����.� � 
��-���	'(�� ���	��&	� 	���
�	�	� 	 ����


 
��J���� �� �	�� ������ * ����	��� �	�	�����H	�� ��� C(n − k + 1) × C(k) ����

k = |S| * � �G���� �� ������ �	 
��-���	'.� ���	��&	 � n−k+1 * � �G���� �� ������

�	� ����	� 
��-���	'(�� 	��
���	��8�� � ����� �� 
����.� ��9������ Q 
��-���	'.�

���	��&	�

���
������ �+	�+ <	�� �� ���

dim(C(n − k + 1) × C(k)) = 2(n − k + 1) − 3 + 2k − 3

= 2n − 3 − 1 = dim(C(n)) − 1.

� ���
��'.� ��� ������ P &���	 	
��	> �� ������ �� 
��-���	'(�� 
�� �� �����

�� 
����.� 	��
���	�	 � 
�� 
��-���	'(�� ���	��&	� ����� � ����� �� 
����.�> ���� ���

������	�	 �������&	����� 
��� ��	 
��-���	'.� �� ������ ���	 ������ ����������
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∞


 ����� �� 
��	��� �	� ��	� C
���������� �������D&���E �	 ��9��	 �������	�	 
��8

�������� 	� ����� �� 
����.� ���
����� 	
��	 � 	� 
��-���	'(�� �� ������ �� 
	�	

��	 �	� ��9��	� 
����������� Q� 
��-���	'(�� ���	��&	� � Q� 
��-���	'(�� �x|[n]−S>

����� :�� ����	 G����	 
��-���	'.� ����� �� ������ �.� ����������

5���� ����	��� :�� �� ������ P = (�x, {�xB,S}) �� ���� ���
���� 	
��	 �.� �	�	�����H	8

��� ��� C(n − k + 1) × C(k)� �� ����� :�	�:��� �� C(n) ���� ��� ���
����

�������H����8�� �	�	 
	�	 �� ��� ���	'�� C(n−k+1) � C(k) 	 ����	 ���
��'.� :��

	
	�	��� �� �	� �	�	 �� ������ P � ����	 9���	> ����	��� 	 ���
��'.� 	
��	> &����

:�� ������ �� C(n)> �� ���	�> �.� ���
����� ��� �������� C(l)×C(n1)× · · ·×C(nk)

�	�	 ���	 ��:;<�
�	 {l, n1, . . . , nk} �	���9	H����
 l, ni � 2 � l + n1 + · · ·+ nk = n + k�

�� ����	� �	�	&�	�> �� ����� �� C(n) �� ���	� * ���
���� ��� ��	 
��-���	'.� ��

������ ���	 ��9��	 �������	�	 9���	�	 ��� k + 1 
���������� �������D&���> 
��	�	�

	��	&*� �� k ������ �� 
����.� �	�	 ���� 1 � k � n − 2� 
 �G���� �� ������ ��


	�	 
��������� �������D&�� ��&���� ������ ��� � 2�

7��������� �+	 + C(n) & �
� %�������� 
	
 
�������!

"�
	�������	! W����	��� :�� ���C(n) = 2n − 3> ���
��	��� �����	� :�� 
	�	

����� �� C(n) ������ ��	 &�H��1	�'	 1�������9	 	 �� 	����� �� (R�0)
2n−3 �

:�� 	� &�H��1	�'	� �����
���	�8�� ��9����
�	&�������� ���� � �������� �� C(n) *

���
��	����� C(n) � 
��� ���� G����� ���	'� * ��	 &	����	�� ��9����
�%&��> �	��	

�7���� &�H��1	�'	� 
������	�	� �	�	 �� ������ :�� �.� ���.� �� �������� �� C(n)�

�� ����� P ∈ C(n)> :�� �.� ���% �� �������� �� C(n)> * �� ����� P =

(�x, {�xB,S}) �	� :�� �xB,Si
∈ S(N(∆Si

⊂ (S2)Si)> �	�	 1 � i � k� 5���� �	� ���
���(��

	
��	 :�� � 
��J���� ��� ������ P ∈ C(n) :�� �<� �7	�	����� k 
���������� �xB,Si

������
���� 	� ����� �� ��� �����
��&� ���P�� * 1�������9� Q ���.� ���J���	 ���


��J����� C(l)×C(n1)×· · ·×C(nk) �	�	 ���	 ��:;<�
�	 {l, n1, . . . , nk} �	���9	H����


/0



l, ni � 2 � l+n1 + · · ·+nk = n+k� 4������ ����� ����	��� :�� � ����� P ������
�

	 C(l) × C(n1) × · · · × C(nk)� ��J	� x = (xl, xn1 , . . . , xnk
) 	� 
������	�	� �� P ��

R2n−3−k ���� 
	�	 xni
* ��	 
������	�	 ��
	� �� C(ni)�

���� 
	�	 C(ni) ���% ������-
	�� 
�� S(N(∆Si
⊂ (S2)Si)> 	� 
������	�	�

xni
����� ��� ��	��� �	�	 ��-������ ��	 ������	 ��
	� �� 
������	�	� �� -��	��

����	� N(∆Si
⊂ (S2)Si)� 4	�	 �	���> �	��	 �������H����� ��	 �	�X����� 	 �	�� �

�������� (xni
, ti) 
�� ti � 0> �	� :�� (xni

, ti) * �� ������	 ��
	� �� 
������	�	� ��

Bl((S2)Si ,∆Si
)�


 ������	 �� 
������	�	� �	�	 � ����� P * ���.� �	�� ��� (xl, xn1 , t1, . . . , xnk
, tk)>


�� ti � 0� 
 9	�� �� :�� 	� &�H��1	�'	� �� 	��	� :�� 	
	�	��� �� ��-��� �� �����8


���	� ��9����
�	&������� �����8�� �� 9	�� �� :�� 
	�	 (xni
, ti) * �� ������	 ��
	�

�� 
������	�	� ���	 &	����	�� 
�� ����� Bl((S2)Si ,∆Si
)�

���
������ �+	(+ H�
	� ��� �� ������� ����������� ��	 	������ 
	����	 �� ����

�������* ����	 ��� �
� ����� 
	��&
 �� 
	�'�����-�� ������%�� � � 	���� 
	��&
 ��

��
��� 
	�'�����-��! 7� ������� 
	�����	 �� 
	�'�����-�� ������%�� ����	 �%������ 


���� 
��
���� �� ���1	�! <� 
��=�
� ����	 ��������
	� 
	�'�����-�� �� 
	��	�

�
 ���
�� �������	��� 	��� ��
�&
 �����
	� � �=
�����	 ��	���� 
��� �	� �������
	�

@� 
	�'�����-�� ������%��!

&���� ��������	��� �� ������ �� ����)����� �������� *�
����

��-������� 	 
���	
��-
	'.� C(p, q) 	 �	���� �	 ��-��'.� �� C(n)� C(p, q) * �	�8

�*� ��	 &	����	�� 
�� 
"������> 4������'.� ,��#> � * ���	 :�� ���% 
�����	 	 �	���

����&	��� �	 ��������	 �� 
�!�> 
��9���� &������ �� 
	�D���� )�

����'	��� ��-����� � �������� ������1�


C(p, q) → C(2p + q)

[(z1, . . . , zp, x1, . . . , xq)] → [(z1, . . . , zp, z̄1, . . . , z̄p, x1, . . . , xq)]
�,�)�

A���8�� :�� ���� ������1� ���% ��� ��-����� �� 9	��> ��-����� � ���	'� C(p, q) �	�	

�������� ������&�� p, q �	�� :�� 2p+q � 2� 4�� ����� �	��> C(n) 9�� ��-���� �	�	 n � 2�

��	���� �� 
��-���	'(�� �� C(p, q) �.� ��-���	� �� ������ �� ��	��9���	'(�� 	-��

/3



z �→ az + b 
�� a, b ��	�� � a > 0 	� �	��� :�� �� C(2p + q) ��	� �.� ��-���	� ���	�

����	� ��	��9���	'(�� 	-�� 
�� ��	 G��
	 ��9����'	 ����� :�� b * �� �G����


�����7� �

)
*����� �+	' ,-����
��
1 :�5℄/+ 7 
	

�
��'
���	 �	 ��
��	 �� 
	�'�����-��

C(p, q) �� 
	��	� �	 ��
� 
���	 ��
���	� ��
���	 & ��'���� 
	
	 	 ��
�	 �
 C(2p + q)

�� �
���
 �	 
������	 5>!?6 � ���� ���	���� C(p, q)!

���
������ �+	�+ <	 �����	 �� C(n) %�
	� ��� ���� 
	��	� 
	��
 ��� ���
���	�

�
 ���
	� �� �
	��	� �� 
	����	� � �
	�'�����-�� ������%���! 0	����
	� ��� �����

��&��� �������%�� 
	����
	���
 �	� 
	�
���	� 
��
��	� �� 
	��	� �	 '����	 �� �������

���	
���	 5
	�'�����-�� ������%��6 � ���� 
	����
	������� 
	��	� �
 ∆S* � ���� �	

'����	* 5
	��	� �� 
	����	6! 7 ������ �����
	� � ���
����	 ���� ������	�
���� 
���

������� 	� 
	��	� �� C(p, q)! P���
	� ���� ���
����	 �
 ���
	� �� 
	��	� �� 
	����	

� 
	�'�����-�� ������%��* �
� %�$ ��� 	 
	�
���	 
��
��	 
	� ���� ������ ���
	� ��

���� �����
����	!

4��	 ���
��'.� ��� ������ �	 
���	
��-
	'.� C(n) � ���	 9���	 �� ������1�

�,�)�> ������� ����H�� ��	 ���
��'.� ��� ������ �� C(p, q)� !	&D	��� 
�������	��

	 
���	
��-
	'.� ��� �� ����� C ∪ {∞} �� ��	�� 
�����7�� � 
���	
��-
	'.�

��� �� ����� �� ����8��	�� �������� 9�
1	�� H * � ���
� 9�
1	�� H ∪ {∞} = D�

��	 
��-���	'.� �	 9���	 (p, q) �� ����8��	�� �������� 9�
1	�� 
���������� 	 ��	


��-���	'.� �� p + q + 1 ������ �� ���
� 9�
1	�� �p + q ������ �	�� �� ����� �7��	

�����	��∞�� �� 9	��> � ���
� 9�
1	�� * ���
��	����� �� 1����9*��� �� S2 = C∪{∞}

���� � ����� �� ���
� * � ��	��� 
D�
��� �	��	��� ���� ∞� � ������	'.� �	 ���	 ��	�

������ �� H� ����H ��	 ������	'.� �� ��	��� 
D�
��� � ����	��� ������� ����������

����� � 1����9*��� �������� � ��9������ =�����-
	����� 	 
���	
��-
	'.� ��� �� �����

�� H 
�� � 1����9*��� ���������

4	�	 �������� 	 
���	
��-
	'.� �� ���	'� �� 
��-���	'(�� �� ������ �� ���
�

9�
1	��> ��&���� �����	� ��	� ����	'(�� ����D&����

� �������	 ��	�	 �� �� ���
��J���� �
������� ���� ����� ���� ���������� ��

������ �� �������� �� ���
� 
�������� �� 	���� ����� �� ��� �������� ��� ��J	> 	

/#



����	'.� �� �� ����� �	 
���	
��-
	'.� �	�� ��� ��	 
��-���	'.� ���	��&	 9���	�	

������� ��� ������ �� �������� �� ���
� 
�J� ����� �� 
����.� �	��*� ���% �� ��������

�� ���
���

A	 ������	 ����	'.� ����� �� ���
��J���� �� p2 ������ �� �������� � q2 ������

�� ����� 
�� 2p2 + q2 � 2 �������� Q 
����.� �� 	���� ����� �� ����� �� ���
�

��� ��J	> �� ����� �	 
���	
��-
	'.� �� :�� 	 
��-���	'.� ���	��&	 
���*� ������

�	��� �� �������� :�	��� �� ����� � 
�J� ����� �� 
����.� ���% ����� � ������� 


S����� �� 
����.�T * ������ �������� ��� ������ �	�
	��� �	���� 5	��� �����	� 
	�	


	�� ��1	��� �	�	 	 ��	��� �� 
	�	 
��-���	'.� ���� ������1� �,�)�� �� ����	�

�	�	&�	�> &	��� �����	� �� ���� ����� �� S���1	�T :�� 	�	��
�� �	 
���	
��-
	'.�

�� ���	'� �� 
��-���	'(�� �� ������ �� ���
��

<��1�� �� ���
����

�	�� �� ���
��J���� �� ������ (zi1 , . . . , zik) �� �������� �� ���
� 9�
1	��> ��	 ��8

	��� ���� ������1� ,�) * �	�	 ��� ������ �� 1����9*��� �������� �� C ∪ {∞} ���


��� ��	 ��Y�7.� �
������������� 	 (z̄i1 , . . . , z̄ik)� 	��	&*� �� ��	��� 
D�
��� 
��8

����� � ∞� ������� :�� 	:����� ������ &.� 
������ ��� ����� �������� �� ���
��

� ����	'.� 
������������� �	 ��9��	 * 	 �� ������ �� 1����9*��� �������� 
��������

����� 	���� ����� �� ��� ��������> ��� 
��� ��	 ��Y�7.� (z̄i1 , . . . , z̄ik) 
�������� ��

�������� �� 1����9*��� ��9������ ����	 9���	 ����� �� ����� �� ����� �� C(2p + q)�

�� 	
���� 
�� ����	 ���
��'.� �� ������ �� 
	��	� �� 
	����	 � 
	�'�����-�� ��� 

���%�� :�� ��	��H���� �� 
��-���	'(�� �� ������ �� ��9��	� �������	�	� ����1	��>

	 
����.� ���
���	 	
��	 ��� �% ��	 ��9��	 
��	�	 	 ��	� ����	� ��9��	� 	��	&*� ��

������ �� �������� �� 
	�	 �� ��� 1����9*���� � �	�� :�� ��	 * � ��Y�7� �	 ����	�

W���> �	�� 
��-���	'(�� �.� ��������	�	� ���	� ��	� 
��-���	'(�� 
��������������

�� 1����9*��� �������� � ������� ���������� ����	 	���'.� Q:���� 1����9*���� �����8

:;���������> ���� ���� �� ����� �� C(p, q) * ���
���� ��� 
��-���	'(�� �� ������

��� ���
� �������	�� 9���	�� ��� ��	 ��9��	 
��	�	 	 �� ���
� 	��	&*� �� �� �����

�	�
	�� 	��
���	� �� �������� �� ���
�> &�� -���	 ,�/�	��

2+



<��1�� �� �����

�����	��� 	���	 � 
	�� ���� p2 ������ �� �������� � q2 ������ �� ����� ���.� 
��8

������ �� 	���� ����� �� �����> 
�� 2p2 + q2 � 2� A	 ��9��	> 	��	&*� �� ������1�

�,�)�> ����� p2 ������ �� 1����9*��� ��������> p2 ������ �� 1����9*��� ��9����� ���

:�	�� �.� 	 ��Y�7.� ��� ��������� p2 ������� � q2 ������ �� ��	��� 
D�
��� �	��	���

��� ∞� ����� ����� 2p2 + q2 ������ &.� 
������ �� 	���� ����� �� ��	��� 
D�
����

� 
��-���	'.� �����	 �� ������ ��� ����� �� ����� �� C(2p + q)� * ���������	�	

��� ��	 ��9��	 
�� 2p2 + q2 ������ �	�
	��� 
��	�	 	 ����	 ��9��	 	��	&*� �� ��

��&� ����� ����� � ��	��� 
D�
��� ���� ��-����� ���� �	�� 
��-���	'(�� �	� ��9��	�

���������	� �� ����� �� 9�
1� �	 ��	��� �� C(p, q)> ������ �� �� 1����9*��� �.�

�7	�	����� 	 ��Y�7.� ��� ������ �� ������ �����:;���������> ���� ���� �� �����

�� C(p, q) ���� ��� ���������	�� ��� 
��-���	'(�� �� ������ ��� ���
� �������	��

9���	�� ��� ���� ���
�� 
��	��� ��� �� ����� �� �����> &�� -���	 ,�/���� 
 �����

�� 
��	��� ������ * �������� ��� ������ �	�
	��� �	����

a)

∞ ∞

⇒
b)

∞
∞

⇒

�

�,�/�

�� -���	� ,�/ 	� � �� ���������	� 	���� ���� ����� ��9������� �� ������ �� C(p, q)�

�� �� ����� P �� C(p, q) * �	�� ��� ��	 ���1	 �� ��������> ���.� ����� �� ���8


��J���� �� 
��J���� �� ������ ���������� �����7	��� ��� Sc ⊂ [p]> |Sc| = p2 � 2�


�������� �� ��������� 
 
��J���� �� ����� �� ������ ����� ���� * �	�	�����H	�� ���

C(p1 + 1, q) × C(p2)> ���� p1 + p2 = p � p2 � 2�

A� 
	�� �� ��	 ���1	 �� �����> ����� ���� ���
��J����� Sc ⊆ [p] � So ⊆ [q]>


�� |Sc| = p2 � |So| = q2 �	���9	H���� 2p2 + q2 � 2> �	� :�� �� ������ ����7	��� ���

����� ���
��J����� ���.� 
�������� �� ����� �� ���
� 9�
1	��� 
 
��J���� �� �	��

������ * �	�	�����H	�� ��� C(p1, q1 + 1) × C(p2, q2)> 
�� p1 + p2 = p> q1 + q2 = q>

2p1 + q1 � 1 � 2p2 + q2 � 2�

2�



���
������ �+	!+ <	�� �� ���(

dim(C(p1, q1 + 1) × C(p2, q2)) = 2p1 + q1 + 1 − 2 + 2p2 + q2 − 2

= 2p + q − 2 − 1 = dimC(p, q) − 1

�

dim(C(p1 + 1, q) × C(p2)) = 2(p1 + 1) + q − 2 + 2p2 − 3

= 2p + q − 2 − 1 = dim C(p, q) − 1

�� ����� :�	�:��� �	 
���	
��-
	'.� C(p, q) * �	�� ��� 
��-���	'(�� �� ���8

��� �� ���
�� �������	��� �� ���	�� �	�� ���
�� �.� ������� ����	���8�� � ���
����

���
���� 	
��	� �	�� �� 
���� ���
� �������	��> ��� ���	'� �� 
��-���	'(�� * 1���8

����9� 	� ������� �� 
"��	� �� ���	'�� C(pi, qi) � C(ni) 
�� 2pi + qi � 2 � ni � 2


��9���� ���
���� �	 ��'.� )���

7��������� �+	4+ C(p, q) & �
� %�������� 
	
 
�������!

"�
	�������	! � ��������	'.� * ��<���
	 Q ��������	'.� �	 4������'.� ,��) ��8

	��� � 9	�� �� :�� �� ����� �� C(p, q) :�� �.� ���% �� ��� �������� 
���������� 	

�� ����� ��� ���	'� ������ ���� ������� 
	�����	�� �� 
"��	� �� ���	'�� C(pi, qi)

� C(ni) 
�� 2pi + qi � 2 � ni � 2�

�	 ���
��'.� ��� ������ ��� ����	��� �� C(p, q) ��	��� ���1	�> �	��	����� ��

��"7��� 
	�D���� Q ��*�	 �� ��	� %�&���� �	�	 �����	� ��	 ����	��-
	'.�� �� 9	��>


	�	 ���
� �� ��9��	 �������	�	 
������� �� �� 
��J���� �� ���
�� � ��9��	� 
��

������ �	�
	��� 
��	��� ��� ������ :�� �.� ��������� ��� ������ ������ �	�
	����

����	> �	�	 
	�	 ���
� �� ��9��	 �������	�	 	���
�	��� ��� ����	 ���� ���	 %�&���

������	�	 
�� �	�H� �	 �������� 9���	� 4	�	 
	�	 ���
� �� ��9��	 	���
�	��� ��

&*���
� � �	�	 
	�	 ����� ���
������ � ����� �� ∞ � �� ������ �� 
��	��� �� ������

������� 	���
�	��� ��	 	����	� � 	����	 
������������� 	 ∞ * 	 �	�H �	 %�&���>

	� 	����	� 
�������������� 	�� ������ �� 
����.� �.� 	����	� ������	� ������ ����

&*���
�� 
��������������> � 	� 	����	� 	���
�	�	� 	�� ������ �	�
	��� ����	���� �:��

�.� �.� ∞ ��� ������ ������� �.� 	� 9��1	� �	� %�&�����

2$



���� �7����� ���� ����� �� ������ �	�
	��� �� ���
� 9�
1	�� ������ �������� �

����� ����� � ������ 	� %�&���� ��	�� 
�������������� ���.� ���� ����� �� 	����	��

�	�� %�&���� 9��	� ���
���	� �� 
	�D���� 	������� � ��������1	�.� �� �	��� 
��
�	�

��� ������� �� ��"7��� 
	�D�����

2,



�������� �

� ���� 

�	 !���
��	� 
� C(p, q)

A���� 
	�D���� �����	����� :�� 	 �������	 ���1	 �� ����� E1 �	 ��:;<�
�	 ����
��	�

�� C(p, q) ��-�� ��	 �R8����	�	 ������9	 	� ���	� N∞ �� OC∞�

$�� � *������#
���� �� C(p, q)

A���	 ��'.� �����	����� 
��� 	 ��������	 �� &	����	�� 
�� 
"������ �� C(p, q)>

4������'.� ,��#> ����H ��	 -���	'.� �	���	� �� ��� 
�����7� �� 
	���	 ������	���

� ����	��� ��&	 	 ��	 ��:;<�
�	 ����
��	� 
��&������� �	�	 H∗(C(p, q))� � �����'.�

��	�	 ����� 
	�D���� ���% �������	 �	 �������� -���	


a)

∞

⇔ b)

∞

⇔

�

�)���

W����	��� :��> �	�	 
	�	 �	� �� �������� (p, q) 
�� 2p + q � 2> ��-�����

N∞(p, q) 
��� � ���	'� &�����	� ���	�� ���	� %�&���� �	�
�	������ ��	�	� �� ����

(p, q) �	���9	H���� T + (−T ) = 0 ���� (−T ) �����	 	 %�&��� T 
�� ������	'.�

�����	� N∞(p, q) * �� ���	'� &�����	� ��	��	�� ��	�	 
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d : Em,n → Em−s,n+s−1


��� ����
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Hm,n(E, d) =
kerd : Em,n → Em−s,n+s−1

imd : Em+s,n−s+1 → Em,n
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���������	� {Er
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Er+1
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{F pA} 
��� p ∈ Z ��� ���

· · · ⊂ F p−1A ⊂ F pA ⊂ F p+1A ⊂ · · · ⊂ A.
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d : F pA → F pA.
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F pH(A, d) = ��	��� H(F p ι
→ A)

= ��	��� (H(F pA, d)
H(ι)
−→ H(A, d))
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 dr �� ���� ��
�	 (−r, r − 1) �

E1
p,q ≃ Hp+q(F

pA/F p−1A).
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 %��	��� s = s(n)

� t = t(n) ���� ���(

{0} ⊂ F sAn ⊂ F s+1An ⊂ · · · ⊂ F t−1 ⊂ F tAn = An,

����	 � ���L��
�� ��
�
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	�%���� 
��� H(A, d)* 	� ����(

E∞
p,q =

F pHp+q(A, d)

F p−1Hp+q(A, d)
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ρ : g → Der(A).
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D ∈ Coder1(Sc(L) ⊗ T c(A)), D2 = 0.
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